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1.

a. “Managerial accounting is a field of accounting that provides economic information for all
interested parties.” Do you agree? Explain.

b. Joe Delong believes that managerial accounting serves only manufacturing firms. Is Joe
correct? Explain.
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Answer:
(a) Disagree. Managerial accounting is a field of accounting that provides economic and
financial information for managers and other internal users.
(b) Joe is incorrect. Managerial accounting applies to all types of businesses—service,
merchandising, and manufacturing.
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2. Distinguish between managerial and financial accounting as to..
(a) primary users of reports,

(b) types and frequency of reports, and

(c) purpose of reports.
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Answer:
(@) Financial accounting is concerned primarily with external users such as stockholders,

creditors, and regulators. In contrast, managerial accounting is concerned primarily with
internal users such as officers and managers.
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(b) Financial statements are the end product of financial accounting. The statements are
prepared quarterly and annually. In managerial accounting, internal reports may be prepared
as frequently as needed.

(c) The purpose of financial accounting is to provide general-purpose information for all
users. The purpose of managerial accounting is to provide special-purpose information for
specific decisions.
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3. How do the content of reports and the verification of reports differ between managerial and
financial accounting?
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Answer:
Differences in the content of the reports are as follows: b LS & 5 )Wl 5 giaa & Y
Financial Managerial
" Pertains to business as a whole and | = Pertains to subunits of the business
is highly aggregated. and may be very detailed.
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" Limited to double-entry accounting | = Extends beyond  double-entry
and cost data. accounting system to any relevant data.
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In financial accounting, financial statements are verified annually through an independent
audit by certified public accountants. There are no independent audits of internal reports
issued by managerial accountants.
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4. Linda Olsen is studying for the next accounting mid-term examination. Summarize for
Linda what she should know about management functions.
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Answer:

Linda should know that the management of an organization performs three broad functions:
(1) Planning requires management to look ahead and to establish objectives.

(2) Directing involves coordinating the diverse activities and human resources of a company
to produce a smooth-running operation.

(3) Controlling is the process of keeping the company’s activities on track.
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5. “Decision-making is management’s most important function.” Do you agree? Why or why
not?
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Answer:
Disagree. Decision making is not a separate management function. Rather, decision making
involves the exercise of good judgment in performing the three management functions
explained in the answer to question four above.
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6. Explain the primary difference between line positions and staff positions, and give
examples of each.
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Answer:
Employees with line positions are directly involved in the company’s primary revenue
generating operating activities. Examples would include plant managers and supervisors, and
the vice president of operations. In contrast, employees with staff positions are not directly
involved in revenue- generating operating activities, but rather serve in a support capacity to
line employees. Examples include employees in finance, legal, and human resources.
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7. Jerry Lang is unclear as to the difference between the balance sheets of a merchandising
company and a manufacturing company. Explain the difference to Jerry.
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Answer:

The difference in balance sheets pertains to the presentation of inventories in the current asset

section. In a merchandising company, only inventory is shown. In a manufacturing company,
three inventory accounts are shown: finished goods, work in process, and raw materials.
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8. How are manufacturing costs classified?
Saoiuall) IS Ciiual oy i .8
Answer:

Manufacturing costs are classified as either direct materials, direct labor, or manufacturing
overhead.
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9. Mel Finney claims that the distinction between direct and indirect materials is based
entirely on physical association with the product. Is Mel correct? Why?
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Answer:
No, Mel is not correct. The distinction between direct and indirect materials is based on two
criteria: (1) physical association and (2) the convenience of making the physical association.
Materials which cannot be easily associated with the finished product are considered indirect
materials.
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10. Tina Burke is confused about the differences between a product cost and a period cost.
Explain the differences to Tina.

. Tina Burke J AN ¢ d) 5580 481y gilal) 485 ¢ 3941 oldy 45550 Tina Burke .10
Answer:
Product costs, or inventoriable costs, are costs that are a necessary and integral part of
producing the finished product. Period costs are costs that are identified with a specific time
period rather than with a salable product. These costs relate to nonmanufacturing costs and
therefore are not inventoriable costs.
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11. Identify the differences in the cost of goods sold section of an income statement between a
merchandising company and a manufacturing company.
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Answer:
A merchandising company has beginning inventory, cost of goods purchased, and ending
inventory. A manufacturing company has beginning finished goods inventory, cost of goods
manufactured, and ending finished goods inventory.
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12. The determination of the cost of goods manufactured involves the following factors: (A)
beginning work in process inventory, (B) total manufacturing costs, and (C) ending work in
process inventory.
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Identify the meaning of x in the following formulas: 4\l fuall & X re 332
a. A+B=X
b.A+B-C=X
Answer:
(@) X = total cost of work in process.
(b) X = cost of goods manufactured.

13. Sealy Company has beginning raw materials inventory $12,000, ending raw materials
inventory $15,000, and raw materials purchases $170,000. What is the cost of direct materials
used?
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Answer:

Raw materials inventory, DEGINNING ......ccccooviiiiiiiie e $12,000
RaW Materials PUICNASES. .......cveiiiiiieieieeie et $170,000
Total raw materials available fOr USe ... $182,000
Raw materials inventory, eNdiNg ..o $(15,000)
DIreCt MaterialS USE .........coviiieiiiieiieiee e e $167,000
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14. Tate Inc. has beginning work in process $26,000 , direct materials used $240,000, direct
labor $220,000 , total manufacturing overhead $180,000, and ending work in process
$32,000. What are the total manufacturing costs?

Laadioadl) Bpibuall Agally ¢ N33 26,000 lwe 5aal) Jg) Juiddll s zlily .Tate Inc isud iy .14
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Answer:

DireCt MaterialS USEBA .......cocviiiieiieieei et ee e sbee e $240,000
DIreCt 1aDOF USEA ....ecvverieciiiiiciece et 220,000

Total manufacturing OVErhead ............ccceiiiiiiiiiiee e 180,000

Total ManuUFaCtUrING COSES .....ocviiieiece e $640,000

15. Using the data in Question 14, what are (a) the total cost of work in process and (b) the
cost of goods manufactured?
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Answer:
(a) Total cost of work in process ($26,000 + $640,000) ..........ccccerervrerireereernrnnnn. $666,000
(b) Cost of goods manufactured ($666,000 — $32,000) ........cccovervrererviererennnnns $634,000

16. In what order should manufacturing inventories be listed in a balance sheet?
A gand) Ailisall A dndial a3 M) g Rl @l id i ol 4116
Answer:

The order of listing is finished goods inventory, work in process inventory, and raw materials
inventory.
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17. How does the output of manufacturing operations differ from that of service operations?
fAari) clideal) ili ge aiiall) cliles @il Cilidy Gis .17

Answer:

The products differ in how each are consumed by the customer. Services are consumed

immediately; the product is not put into inventory. Meals at a restaurant are the best example

where they are consumed immediately by the customer. There could be a long lead time
before the product is consumed in a manufacturing environment.
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18. Discuss whether the product costing techniques discussed in this chapter apply equally

well to manufacturers and service companies.
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Answer:

The product costing techniques apply equally well to manufacturers and service companies.

Each needs to keep track of the cost of production or services in order to know whether it is

generating a profit. The techniques shown in this chapter, to accumulate manufacturing costs
to determine manufacturing inventory, are equally useful for determining the cost of services.
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19. What is the value chain? Describe, in sequence, the main components of a manufacturer’s
value chain.
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Answer:
The value chain refers to all activities associated with providing a product or service. For a
manufacturer, these include research and development, product design, acquisition of raw
materials, production, sales and marketing, delivery, customer relations, and subsequent
service.
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20. Distinguish between product costs and period costs.
Bl Gy ilal) GG g Sasadl) 20
Answer:
Product costs are costs that are associated with manufactured goods until the time period

during which the products are sold, when the product costs become expenses. Period costs are
expensed during the time period in which they are incurred.
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21. Why are product costs also called inventoriable costs?
¢ Al ALl A Loyl aiial) il e 13l .21
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Answer:

Product costs are also called inventoriable costs because they are assigned to manufactured
goods that are inventoried until a later period, when the products are sold. The product costs
remain in the Work-in-Process or Finished-Goods Inventory account until the time period
when the goods are sold.
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22. What is the most important difference between a manufacturing firm and a service
industry firm, with regard to the classification of costs as product costs or period costs?
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Answer:

The most important difference between a manufacturing firm and a service industry firm, with

regard to the classification of costs, is that the goods produced by a manufacturing firm are

inventoried, whereas the services produced by a service industry firm are consumed as they

are produced. Thus, the costs incurred in manufacturing products are treated as product costs

until the period during which the goods are sold. Most of the costs incurred in a service
industry firm to produce services are operating expenses that are treated as period costs.
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23. List, describe, and give an example of each of the four different types of production
processes.
Y cllaad ABKA day ) £ 1630 (e g5 JSI Qi aely iagly apul 23
Answer:
The four types of production processes are as follows:
= Job shop: Low production volume; little standardization; one-of-a-kind products.
Examples include custom home construction, feature film production, and ship
building.
= Batch: Multiple products; low volume. Examples include construction equipment,
tractor trailers, and cabin cruisers.
= Assembly: A few major products; higher volume. Examples include kitchen
appliances and automobile assembly.
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= Continuous flow: High production volume; highly standardized commaodity products.
Examples include food processing, textiles, lumber, and chemicals.
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24. Why is the cost of idle time treated as manufacturing overhead?

Saoiall) il Wl o adliall gl A8SE aa Jaladl) ol 131 .24
Answer:
The cost of idle time is treated as manufacturing overhead because it is a normal cost of the
manufacturing operation that should be spread out among all of the manufactured products.
The alternative to this treatment would be to charge the cost of idle time to a particular job
that happens to be in process when the idle time occurs. Idle time often results from a random
event, such as a power outage. Charging the cost of the idle time resulting from such a
random event to only the job that happened to be in process at the time would overstate the
cost of that job.
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25. Explain why an overtime premium is included in manufacturing overhead.

oiall) IS B ALY Jead) Bdle (el s ) 125
Answer:
Overtime premium is included in manufacturing overhead in order to spread the extra cost of
the overtime over all of the products produced, since overtime often is a normal cost of the
manufacturing operation. The alternative would be to charge the overtime premium to the
particular job in process during overtime. In most cases, such treatment would overstate the
cost of that job, since it is only coincidental that a particular job happened to be done on
overtime. The need for overtime to complete a particular job results from the fact that other
jobs were completed during regular hours.
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26. What is meant by the phrase “different costs for different purposes”?

¢"Aalida ()Y Adlida (ST §ylay dgaball L .26
Answer:
The phrase “different costs for different purposes” refers to the fact that the word “cost” can
have different meanings depending on the context in which it is used. Cost data that are

classified and recorded in a particular way for one purpose may be inappropriate for another
use.
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27. Distinguish between fixed costs and variable costs.
Byaiall cidleatly AL cadlaal o 338 .27
Answer:

A fixed cost remains constant in total across changes in activity, whereas the total variable
cost changes in proportion to the level of activity.
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28. Distinguish between out-of-pocket costs and opportunity costs.
AL L@l Gy duad ) Catlsil) o 338 .28
Answer:
Out-of-pocket costs are paid in cash at or near the time they are incurred. An opportunity cost

is the potential benefit given up when the choice of one action precludes the selection of a
different action.
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29. Define the terms sunk cost and differential cost.
LAlaladl) datcaty 48,5 At clathas die .29
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Answer:

A sunk cost is a cost that was incurred in the past and cannot be altered by any current or
future decision. A differential cost is the difference in a cost item under two decision
alternatives.
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30. Distinguish between marginal and average costs.

AR A giag dpdialgd)/Agant) i)y Saas .30
Answer:
A marginal cost is the extra cost incurred in producing one additional unit of output. The
average cost is the total cost of producing a particular quantity of product or service, divided
by the number of units of product or service produced.
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31. Define cost object and give three examples.

LALia] 53 plac g Al Ciay aaa5 .31
Answer:
A cost object is anything for which a separate measurement of costs is desired. Examples

include a product, a service, a project, a customer, a brand category, an activity, a department
and a programmer.
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32. Which costs are considered direct? Indirect? Give an example of each.

Baaly 0S8 Jla e € pdla 8 5yl ad A Gt 4 .32
Answer:
Costs are not direct or indirect in isolation. A cost object (such as a product, service or
project) must be specified.
* Direct costs of a cost object are those costs that are related to the particular cost object and
that can be traced to it in an economically feasible (cost-effective) way.
* Indirect costs of a cost object are those costs that are related to the particular cost object but
cannot be traced to it in an economically feasible (cost-effective) way.
Assume that the cost object is a Macintosh computer product. Apple assembles multiple
products in each of its plants. The computer screen is a direct cost of the Macintosh. In
contrast, the salary of the security guard at the plant where the Macintosh is assembled would
be an indirect cost of the Macintosh.
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33. Describe how a given cost item can be both a direct cost and an indirect cost.

pdilia it 4l g §ydle A8 e A8 pale (98 o OSay CiiS Ciiag .33
Answer:
Consider a supervisor’s salary in a maintenance department of a telephone company. If the

cost object is the department, the salary is a direct cost. If the cost object is a telephone call by
a customer, the salary is an indirect cost.

R
I g bl e ¢l e AEKH) Caan IS 1) L Cailel) A58 b Ailal) a3 Capdall il @jliie) b
Byl e A8 g Copall O8¢50y JB (e Al dallSe (e 3)le QA Caaa OIS 1Y) L35l

34. Give three factors that will affect the classification of a cost as direct or indirect.
Bpdilaa ol Byl Wl o AR Ciian o i of Wald G Jalgs AN ke .34
Answer:
Factors affecting the classification of a cost as direct or indirect include
1. the materiality of the cost in question,
2. available information-gathering technology,
3. design of operations and
4. contractual arrangements.
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35. What is a cost driver? Give one example for each area in the value chain.
Aal) Aades 8 g5 08 laaly Yiia Jaef 04RISH Copna 58 L .35

Answer:
A cost driver is any factor that affects total costs. Examples include:
Business Function Example Of Cost Driver

Research and development Number of research projects
Design Number of products in design
Production Number of units produced
Marketing Number of advertisements run
Distribution Number of items distributed
Customer service Number of service calls

36. What is the relevant range? What role does the relevant range concept play in explaining
how costs behave?

RS il LS 7l B ailal) g dall aggha Ay o3 sl 9a Le Saidlall saal) 92 e .36
Answer:
The relevant range is the range of the cost driver in which a specific relationship between cost
and driver is valid. This concept enables the use of linear cost functions when examining

cost-volume—profit (CVP) relationships as long as the volume levels are within that relevant
range.

LAY
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37. Explain why unit costs must often be interpreted with caution.

coAa Baagl) GRS s Lal) e S B g 13l ) W37
Answer:
A unit cost is calculated by dividing some total cost (the numerator) by some number of units
(the denominator). In many cases, the numerator will include a fixed cost that will not change
despite changes in the number of units to be assembled. It is erroneous in those cases to

multiply the unit cost by volume changes to predict changes in total costs at different volume
levels.
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38. Describe how service-, merchandising- and manufacturing-sector companies differ from
each other.
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Answer:
Descriptions of the three sectors are:
e Service-sector companies provide services or intangible products to their customers —
for example, legal advice or an audit. These companies do not have any stock of
intangible products at the end of an accounting period.

® Merchandising-sector companies provide tangible products they have previously
purchased in the same basic form from suppliers. Merchandise purchased from
suppliers but not sold at the end of an accounting period is held as stock.

e Manufacturing-sector companies provide tangible products that have been converted
to a different form from the products purchased from suppliers. At the end of an
accounting period, stock of a manufacturer can include direct materials, work in
progress and finished goods.
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Thus, manufacturing and merchandising companies have stock while service companies do
not. Manufacturing companies have direct materials, work in progress and finished goods

stock, whereas merchandising companies have only goods purchased for resale stock
(merchandise stock).

5\:\}4 il GlSHS el Ll Gad cleaddl GlSHE Ly g3da Lal Hlaally sl @lS)d gl ¢ Jull
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39. What are the three major categories of the inventoriable costs of a manufactured product?
Saciuan ilal Al ALY Sl Al EDEN @l A& L .39

Answer:

The three major categories of the stockable costs of a manufactured product are:

1. direct materials costs,

2. direct manufacturing labour costs and

3. indirect manufacturing costs. R
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40. Define the following: direct materials costs, direct manufacturing labour costs, indirect
manufacturing costs, prime costs and conversion costs.

¢ balall pf aslall) GRS ¢ poiaill Spdlual) Allead) G ¢ Bydlaall algall ISt Y Le s .40
Lagatl) cillesy Al e
Answer:
Direct materials costs are the acquisition costs of all materials that eventually become part of
the cost object (say, units finished or in progress) and that can be traced to that cost object in
an economically feasible way. Acquisition costs of direct materials include freight-in (inward
delivery) charges, sales taxes and customs duties. Direct manufacturing labour costs include
the compensation of all manufacturing labour that is specifically identified with the cost
object (say, units finished or in progress) and that can be traced to the cost object in an
economically feasible way. Examples include wages and fringe benefits paid to machine
operators and assembly-line workers.

saulay)
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Indirect manufacturing costs are all manufacturing costs considered to be part of the cost
object (say, units finished or in progress) but that cannot be individually traced to that cost
object in an economically feasible way. Examples include power supplies, indirect materials,

indirect manufacturing labour, plant rent, plant insurance, property taxes on plants, plant
depreciation and the compensation of plant managers.

Slangll ¢ JEa) G o) A8 G e leja iiad S il Gl apen o Bl e sl CallSs
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Prime costs are all direct manufacturing costs. In the two-part classification of manufacturing
costs, prime costs would comprise direct materials costs. In the three- part classification,
prime costs would comprise direct materials costs and direct manufacturing labour costs.

V) e\l Jadias ¢ qiaail) CallS i e Sl Gl 3 il aial CallSS LS 20N Calsal)
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Conversion costs are all manufacturing costs other than direct materials costs.
3pilall N gall CadlSS lae apail) (ol aran & dysail) (ol
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41. What is an activity? Give some examples of activities within a manufacturing firm.
el Ay Jaka AaddY) Jo AEY) sy kel thlA s L .41
Answer:

An activity is a basic unit of work performed within an organization. Examples include
materials handling, inspection, purchasing, billing, and maintenance.

sy
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42. What does traceability mean?
Saal) ay 13l .42
Answer:

Traceability is the ability to assign a cost directly to a cost object in an economically feasible
way using a causal relationship.
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43. What is allocation?

Answer:
Allocation is the assignment of indirect costs to cost objects based on convenience or assumed
linkages.
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44. Explain how driver tracing works.
Answer:
Driver tracing is the use of drivers to trace costs to cost objects. Often, this means that costs

are first traced to activities using re-source drivers and then to cost objects using activity
drivers.
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45. What is a tangible product?
usalal) gilal g2 L .45

Answer:
Tangible products are goods that are made by converting raw materials through the use of
labor and capital inputs.
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46. What is a service? Explain how services differ from tangible products.

Agalal) claiiall oo clardl) GRS CiiS 7l $daddd) A L .46
Answer:
A service is a task or activity performed for a customer or an activity performed by a
customer using an organization’s products or facilities. Services differ from tangible products
on three important dimensions: in-tangibility, perishability, and inseparability. Intangibility
means that buyers of services cannot see, feel, taste, or hear a service be-fore it is bought.
Perishability means that services cannot be stored. Inseparability means that producers of
services and buyers of services must be in direct contact (not true for tangible products).

saslay)
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47. Give three examples of product cost definitions. Why do we need different product cost
definitions?

Sgiial) Adleil Adlide il ot ) gz liad 13lal . il AGISH culdy il ALa] 530G Jaef .47
Answer:
Three examples of product cost definitions are value-chain, operating, and traditional
definitions. The value-chain definition includes cost assignments for research and
development, production, marketing, and customer service (all value-chain activities).
Operational product costs include all costs except for research and development. Traditional
product costs include only production costs. Different cost definitions are needed because
they serve different managerial objectives.

saalay)
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48. ldentify the three cost elements that determine the cost of making a product (for external

reporting).
(Al il piia adus 4RSS aaa3 ) A3AY AR jalic s .48
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Answer:
The three cost elements are direct materials, direct labor, and overhead.

R
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49. How do the income statements of a manufacturing firm and a service firm differ?

laddl) ASydg aiaall) A5l (pa S JaAl) allgh CANAS S .49
Answer:
The income statement for a service firm does not need a supporting cost of goods

manufactured schedule. Since services cannot be stored, the cost of services produced equals
the cost of services sold (not necessarily true for a manufacturing firm).

R
Ol ¢ claaall (A Ky ¥ A Tl Aaiaall alud) Jsoad deels 265 Y caloaal) 48520 Jaall Ll zlias Y
(o 48580 Tagnia 2y 5y pually ) A L) chlanall 445 gl dnvinall hlaaal) 481

50. Why must the word cost be accompanied by an adjective to be meaningful?

§ i cild () oS3 Ay 4y ganan "AAIC AalS oS5 o cuay 13l .50
Answer:
The term cost is used to refer to so many different concepts that an adjective must be attached
to identify which particular type of cost is being discussed. For example, there are fixed costs,
variable costs, period costs, product costs, expired costs, and opportunity costs, to name just a
few.
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51. Why is it necessary to specify a cost object before being able to distinguish between a
direct cost and an indirect cost?

5 pilal) & AR §pdilaall AR (p Gasall) (e Sl (B 4RI Ciad waad gy el (e I3l 5]
Answer:
A cost object is anything for which management wants to collect or accumulate costs. Before
a cost can be specified as direct or indirect, the cost object must be identified. Since direct
costs must be conveniently and economically traceable to the cost object, not knowing what
the cost object in question is would make it impossible to identify direct costs. For example, if
multiple products are made in the same production area, the salary of the area’s manager
would be direct to the production area but indirect to the different products. Indirect costs
must be allocated in some rational and systematic manner to the cost object.
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52. Why is it necessary for a company to specify a relevant range of activity when making
assumptions about cost behavior?

AR dalu Joa clialid) puzag die AEY) (e aldla gaa ASHal sasd o @)l (e tilal .52
Answer:
The assumed range of activity that reflects the company’s normal operating range is referred
to as the relevant range. Outside the relevant range, costs may be curvilinear because of
purchase discounts, improved worker skill and productivity, worker crowding, loss in
employee efficiency during overtime hours, etc. Although a curvilinear graph is more
indicative of reality, it is not as easy to use in planning or controlling costs. Accordingly,
accountants choose the range in which these fixed and variable costs are assumed to behave as
they are defined (linear) and, as such, represent an approximation of reality.
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53. How do cost drivers and cost predictors differ, and why is the distinction important?

Sage Lagiy Jaall) Pilalg ¢ AdlSHl) culiviiag AAMCH iliwa alidS (i€ .53
Answer:
It is not necessary for a causal relationship to exist between the cost predictor and the cost. All

that is required is that there is a strong correlation between movement in the predictor and the
cost. Alternatively, a cost driver is an activity that actually causes costs to be incurred.

The distinction between cost drivers and predictors is important because it relates to one of
the objectives of managers: to control costs. By focusing cost control efforts on cost drivers,
managers can exert control over costs. Exerting control over predictors that are not cost
drivers will have no cost control effect.
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54. What are conversion costs? Why are they called this?
¢ an) 1igs lgam 1lal € upatl) LIS A e .54
Answer:

Conversion cost is the sum of direct labor and overhead. Conversion is the process that
converts raw materials and other inputs into salable products (output).
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55. In the past 10-15 years, which product cost category has been growing most rapidly?
Why?

¢ 13kl 96yl Igad g ) el IS A A La ¢ dpaalall Bpde uadd) ) el clgiad) .55
Answer:
Factory overhead has been growing most rapidly because of the costs of technology. This cost
category includes depreciation of factory and plant equipment, machinery maintenance cost,
repair cost, some training costs, utilities expense to operate the machinery, and many costs
related to quality control.
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56. How does an actual costing system differ from a normal costing system? What advantages
does a normal costing system offer?

AN U Lgathy A Lhal) A Le Sgalall GRSl i aUaS oo Agded) ARNSH) ol GiliSy (i .56
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Answer:

The only difference between the two systems is in their treatment of overhead. Under a
normal cost system, a level of activity is chosen and the budgeted amount of overhead is
determined before a period begins. Overhead is then applied to products as production occurs
by using a predetermined overhead application rate. Under an actual cost system, actual
overhead is added to production. Because actual overhead cannot be determined until the
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period ends, the overhead allocation occurs and product cost can be determined only at
period-end.

The major advantage of using a normal cost system is that it allows a product’s cost to be
determined (estimated) at the time of production. Another major advantage is that a normal
cost system provides a product cost that is stable across fluctuating levels of production and
sales.
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57. What is meant by the term cost of goods manufactured ? Why does this item appear on an
income statement?

¢ JAa Aaild B aid) 13 gdiy 13lal € daiuaall doliad) 43I plhiaay dpalal) 4 L .57
Answer:
The cost of goods manufactured (CGM) is the total production cost of the goods that were
completed and transferred to Finished Goods Inventory during the period. This amount is
similar to the cost of net purchases in the cost of goods sold schedule for a retailer. Since
CGM is used in computing cost of goods sold, it appears on the income statement.
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58. How does the cost accounting function assist in the management of a business?

sl 8yl (b il duadae Aidg solud iS58
Answer:
The function of cost accounting is to provide the cost accounting information that is the basis
for planning and controlling current and future operations. It provides the cost figures and
analyses that management needs in order to find the most efficient methods of operating,
achieving control of costs, and determining selling prices.
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59. In what ways does a typical manufacturing business differ from a merchandising concern?
In what ways are they similar?

$Alilas dagl A La B 9 Eaadl) cilalaia) (o Andgall) aiall) Jlasf gy cilids AN gkl & L .59
Answer:
A manufacturer differs from a merchandiser in these ways:
a. The merchandiser buys items to sell while the manufacturing business must make the items
it markets.
b. Usually the manufacturer has a greater investment in physical facilities.
¢. The manufacturer will incur some costs peculiar to this type of industry, such as machine
maintenance, materials handling, and inspection of manufactured goods.
The two types of operations are similar in that they are both concerned with purchasing,
storing, and selling goods; they must have efficient management and adequate sources of
capital; and they may employ many workers.
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60. How is cost accounting information used by management?

o) U8 (pe AT Adpuilaa cilaglea aladiu) ol (i .60
Answer:
Cost accounting information is used by management in the following ways:
a. Determining product costs which are necessary for: determining cost of goods sold and
valuing inventories; determining product selling price; meeting competition; bidding on
contracts; and analyzing profitability.
b. Planning by providing historical costs that serve as a basis for projecting data.
c. Controlling operations by providing cost data that enable management to periodically
measure results, to take corrective action where necessary, and to search for ways to reduce
costs.
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61. Why is unit cost information important to management?

5,00 daga Bangll A8 cilaglea iad 13l .61
Answer:
Unit cost information is important to management because the unit costs of one period can be
compared with those of other periods, and significant trends can be identified and analyzed.

Unit costs are also used in making important marketing decisions related to selling prices,
competition, bidding, and profitability analysis.
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62. For a manufacturer, what does the planning process involve, and how is cost accounting
information used in planning?
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Answer:

For a manufacturer, the planning process involves the selection of clearly defined objectives
of the manufacturing operation and the development of a detailed program to guide the
organization in reaching the objectives. Cost accounting provides historical cost information

that is used as the basis for planning future operations.
U
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63. How is cost accounting related to: financial accounting?; managerial accounting?

4 ) Lpalaally SN Apulaal) —: o cadleil) duulas Jagiyi LiS .63
Answer:
Financial accounting focuses upon financial statements which meet the decision-making
needs of external parties, such as investors, creditors, and governmental agencies, and to
some extent the needs of management. Management accounting focuses on both historical
and estimated data that management needs to conduct ongoing business operations and do
long-range planning. Cost ac-counting includes those parts of both financial and managerial
accounting that collects and analyzes cost information. It provides the product cost data
required for special reports to management (management accounting) and for inventory
costing in the financial statements (financial accounting).
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64. How would you define the following costs: direct materials, indirect materials, direct

labor, indirect labor, and factory overhead?

Ciliilg §piliall 4 Dlaally 5yaliad) Alandly 5pileall & dgally 5ydlaall Sgal) 400G I 2aas i .64
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Answer:

Direct materials—the cost of those materials which become part of the item being

manufactured and can be readily identified with it.

Indirect materials—the cost of those items which are necessary for the manufacturing

process but cannot be identified specifically with any particular item manufactured, and the

cost of those materials which do become a part of the manufactured product but whose cost is

too insignificant to track to individual jobs.

Direct labor—the labor cost for employees who work directly on the product manufactured.

Indirect labor—the cost of labor for those employees who are required for the manufacturing

process but who do not work directly on the item being manufactured.

Factory overhead—includes all costs related to the manufacturing process except direct

materials and direct labor, such as indirect materials, indirect labor, and all other factory

expenses.
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65. What is the difference between cost allocation and cost assignment?
AR oty AR Gauadd c AN & L .65

Answer:

Cost assignment refers to the general case of assigning costs to cost pools or cost objects.
When there is a direct and traceable link between the cost and the cost pool or cost object,
then the management accountant traces that cost to the cost pool or cost object. When there is
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an indirect link between the cost and the cost pool or cost object, then the management
accountant uses cost allocation. Cost allocation uses cost drivers to assign the indirect cost.
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66. Distinguish between direct and indirect costs and give several examples of each.

agie JS Al Bas anyg Spdleal) gy 8pdbial) NS Oy e .66
Answer:
Direct costs can be physically identified with and/or conveniently traced to the cost object
because there is a direct causal link between them. Indirect costs cannot be conveniently and
easily traced to each cost object. Direct costs for a manufactured product include the materials
(called direct materials) which are part of the product and the labor (called direct labor) which
is used to manufacture the product. Indirect costs include the machinery, plant and other labor
necessary to manufacture the product, but which is not conveniently and easily directly
traceable to the product, such as labor for inspection and supervision.
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67. Are all direct costs variable? Explain.

A B pia 5ydlual) CiNSI asan Q& .67
Answer:
All direct costs are, by definition, variable since they can be directly traced to the cost object
and thus must vary with the cost driver.
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68. Are all fixed costs indirect? Explain.
ol Syl e ALY Gl e b .68
Answer:
All fixed costs must be indirect, since the increase in the cost driver or volume of output does

not affect the level of fixed cost. While fixed costs are indirect, some indirect costs might be
variable, but are not considered “direct” because of the convenience/ease factor.
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69. Define cost driver.
AR e die .69
Answer:
A cost driver is any factor that has the effect of changing the level of total cost.
sAgay)
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70. Explain step costs and give an example.

Yl ey da,aial) cilsil) 580 .70
Answer:
A step cost varies with the cost driver, but in discrete steps. Costs remain fixed over narrow
ranges of the cost driver. However, total costs increase by a constant amount at set intervals.
Examples of step costs are the costs for certain clerical tasks, order filling, and other
administrative tasks. At specific levels of the cost driver, an additional clerk must be added.
Therefore, total costs increase by a constant amount at these points.
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71. Why might the term average cost be misleading?

$Mlas A4lCH) bugia plhaa ¢eS 28 13l .71
Answer:
The term average cost can be misleading unless the activity level (denominator) is known.
Because average cost includes a fixed cost component, it will be different at each possible
activity level. The term average cost is meaningless if the denominator is unknown. An
increase in volume does not increase total cost by the amount of the increase in volume
multiplied by total average cost; total cost increases by the increase in volume multiplied by
the unit variable cost rather than the average cost.
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72. How do total variable costs, total fixed costs, average variable costs, and average fixed

costs react to changes in the cost driver?

i) Jaugiag §ysiall RIS Jawigiay AN RIS laaly §ystall Al sl Joliny s .72
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Answer:

Total variable costs increase or decrease as the cost driver increases or decreases. Total fixed

costs remain constant as the cost driver changes. Average variable costs remain constant as

the cost driver increases. Average fixed costs decrease as the cost driver increases and
increase as the cost driver decreases.
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73. Explain the difference between cost of goods sold and cost of goods manufactured.
Aaiiaal) doliay) A8y de Lal) Ao liagd) 4RI o 5 AN 7)) .73
Answer:
Cost of goods manufactured is the cost of the units produced during a given period and
transferred into finished goods inventory. Cost of goods sold is the cost of the units sold this
period. Cost of goods sold will differ from cost of goods manufactured because of changes in
finished goods inventory. If finished goods inventory is very nearly the same from the
beginning to the end of the period, then cost of goods sold and cost of goods manufactured
will be very nearly the same.
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74. Cost management information should be timely and accurate. Which of these attributes is
most important? Why?

¢ )ilaly fApaal ASY) ga clawd) oda (o (of . ualial) gl B A8 ARSI §))y) cilagla 0585 O uay .74
Answer:

Both accuracy and timeliness are important attributes of cost information. Accuracy is
important because effective planning and decision making require accurate cost information.
Cost management information must be available to the decision maker in a timely manner to
facilitate effective decision making. The cost of delay can be significant in many decisions.
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75. Provide an example of an indirect materials cost.

Byl pf g ARl YUa 08 .75
Answer:
Indirect materials include items used in the production process that are not included in the
product itself, such as rags and small tools, lubricant for the machines, etc. Indirect materials
also include those direct materials which cannot be conveniently and economically traced to
the product, such as nails used in building a house.
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76. Provide an example of an indirect labor cost.

Bydilaal) e Aland) 431 YUia 28 .76
Answer:
Indirect labor includes labor that is used in the manufacturing process but cannot be

conveniently and economically traced to each product as it is produced; indirect labor
includes supervision, inspection, training, etc.
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77. Explain the uses of value-chain analysis.

Al Db Jlas cilaladiind gk .77
Answer:
Value-chain analysis is a strategic analysis tool used to identify where value to customers can

be increased or costs reduced and to better understand the firm’s linkages with suppliers,
customers, and other firms in the industry.
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78. What industries do you think are most suited for value-chain analysis and why?

1dlalg a,\b ‘,A Aa®l) Judla Jaladl daeda JiSY) cleliall PRl .78
Answer:
Perhaps the easiest illustration of value chain analysis is in the manufacturing industry
because it is relatively easy for students to visualize the processes and steps that take place in
a typical manufacturing plant, from raw materials to assembly and finishing. This is why the
examples in the chapter use manufacturers. The auto industry is a good additional example.
Ask the class to consider Walmart or Target (as large retailers) and consider the supply chain
at Walmart as an example of a very effective value chain.
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79. Give three examples of variable costs and of fixed costs.

ALY Cadleallg §yaial) calsalt A A5 kel .79
Answer:
Examples of variable costs are the costs of merchandise, materials, parts, supplies, sales

commissions, and many types of labor. Examples of fixed costs are real estate taxes, real
estate insurance, many executive and supervisor salaries, and space rentals.
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80. Why is the word immediately used in the definition of fixed cost and not in the definition
of variable cost ?

O hiall ARSI iy S A unly ASY ARSI iyt G (Wla/sil) o) dalS aladiud ol 13l .80
Answer:
Fixed costs, by definition, do not vary in total as volume changes within the relevant range
and during the time period specified (a month, year, etc.). However, when the cost-driver
level is outside the relevant range (either less than or greater than the limits) management
must decide whether to decrease or increase the capacity of the resource, expressed in cost-
driver units. In the long run, all costs are subject to change. For example, the costs of
occupancy such as a long-term non-cancellable lease cannot be changed for the term of the
lease, but at the end of the lease management can change this cost. In a few cases, fixed costs
may be changed by entities outside the company rather than by internal management — an
example is the fixed, base charge for some utilities that is set by utility commissions.
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81. “It is confusing to think of fixed costs on a per-unit basis.” Do you agree? Why or why
not?

oY Jalaly 13l € 38155 Ja "Bang JS (bl o AN GRS A i el e .81
Answer:
Yes. Fixed costs per unit change as the volume of activity changes. Therefore, for fixed cost
per unit to be meaningful, you must identify an appropriate volume level. In contrast, total
fixed costs are independent of volume level.
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82. “All costs are either fixed or variable. The only difficulty in cost analysis is determining
which of the two categories each cost belongs to.” Do you agree? Explain.
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Answer:

No. Cost behavior is much more complex than a simple dichotomy into fixed or variable. For

example, some costs are not linear, and some have more than one cost driver. Division of

costs into fixed and variable categories is a useful simplification, but it is not a complete
description of cost behavior in most situations.
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83. “The relevant range pertains to fixed costs, not variable costs.” Do you agree? Explain.
oAl S O "8 pial) GRS g ¢ A5 Gl gl aitlall el .83
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Answer:
No. The relevant range pertains to both variable and fixed costs. Outside a relevant range,
some variable costs, such as fuel consumed, may behave differently per unit of activity
volume.
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84. “Classification of costs into variable and fixed categories depends on the decision
situation.” Explain.

oA Al e o Ailig Bpatia il ) A Ciilal aaiay' .84
Answer:
The same cost may be regarded as variable in one decision situation and fixed in a second
decision situation. For example, fuel costs are fixed with respect to the addition of one more
passenger on a bus because the added passenger has almost no effect on total fuel costs. In
contrast, total fuel costs are variable in relation to the decision of whether to add one more
mile to a city bus route.
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85. “Contribution margin is the excess of sales over fixed costs.” Do you agree? Explain.
ol e adlss Ja AL Gl oo cilagaal) aL5 8 Aadlual) Ll .85
Answer:

No. Contribution margin is the excess of sales over all variable costs, not fixed costs. It may
be expressed as a total, as a ratio, as a percentage, or per unit.
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86. Opportunity cost and sunk cost are among the concepts of cost commonly discussed. You
are required:

(i) to define these terms precisely;

(i1) to suggest for each of them situations in which the concept might be applied;

(iii) to assess briefly the significance of each of the concepts.
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Answer:
(1) Opportunity cost: If scarce resources such as machine hours are required for a special
contract then the cost of the contract should include the lost profit that would have been
earned on the next best alternative. This should be recovered in the contract price.
Sunk cost: The original cost of equipment used for a contract is a sunk cost and should be
ignored. The change in the resale value resulting from the use of the equipment represents the
relevant cost of using the equipment.
(2) The significance of opportunity cost is that relevant costs do not consist only of future
cash outflows associated directly with a particular course of action. Imputed costs must also
be included. The significance of sunk costs is that past costs are not relevant for decision-
making.
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87. How does management accounting differ from financial accounting?

SAglal) Aplaall o Ayl dpulaal) Calids i .87
Answer:
Management accounting measures, analyzes, and reports financial and nonfinancial
information that helps managers make decisions to fulfill the goals of an organization. It
focuses on internal reporting and is not restricted by generally accepted accounting principles
(GAAP).
Financial accounting focuses on reporting to external parties such as investors, government
agencies, and banks. It measures and records business transactions and provides financial
statements that are based on generally accepted accounting principles (GAAP).
Other differences include (1) management accounting emphasizes the future (not the past),
and (2) management accounting influences the behavior of managers and other employees
(rather than primarily reporting economic events).
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88. “Management accounting should not fit the straitjacket of financial accounting.’” Explain
and give an example.
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Answer:

Financial accounting is constrained by generally accepted accounting principles. Management
accounting is not restricted to these principles. The result is that:

e management accounting allows managers to charge interest on owners’ capital to help
judge a division’s performance, even though such a charge is not allowed under
GAAP,

e management accounting can include assets or liabilities (such as —brand namesl
developed internally) not recognized under GAAP, and

e management accounting can use asset or liability measurement rules (such as present
values or resale prices) not permitted under GAAP.
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89. How can a management accountant help formulate strategy?

Pl ind) A8 bua A Bas Ll ()Y eulaall 0%y i< .89
Answer:
Management accountants can help to formulate strategy by providing information about the
sources of competitive advantage—for example, the cost, productivity, or efficiency
advantage of their company relative to competitors or the premium prices a company can
charge relative to the costs of adding features that make its products or services distinctive.
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90. Describe the business functions in the value chain.

Aal) Udas 8 Jand) iilliy i .90
Answer:
The business functions in the value chain are

¢ Research and development—generating and experimenting with ideas related to new
products, services, or processes.

e Design of products and processes—detailed planning, engineering, and testing of products
and processes.

¢ Production—procuring, transporting, storing, coordinating and assembling resources to
produce a product or deliver a service.

e Marketing—promoting and selling products or services to customers or prospective
customers.

e Distribution—processing orders and shipping products or services to customers.
e Customer service—providing after-sales service to customers.
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91. "Management accounting deals only with costs.” Do you agree? Explain.

oAl Sl Ja Sl aa Jadh Jalai A )8y Apadaall’ .91
Answer:
"Management accounting deals only with costs." This statement is misleading at best, and
wrong at worst. Management accounting measures, analyzes, and reports financial and
nonfinancial information that helps managers define the organization’s goals and make
decisions to fulfill those goals. Management accounting also analyzes revenues from products
and customers in order to assess product and customer profitability. Therefore, while
management accounting does use cost information, it is only a part of the organization’s
information recorded and analyzed by management accountants.

sy
ous L) Tl 8 Ahlay Il gual 3 Allae 3yl ods oSl ao daih Jolai dy)laY) Apladl
Calaal aass e gypad) aelus ) AL e s A0l Cleglaall e #30Y15 ¢ cdldaally ¢ Ayl dulad)
Ge il colatiall e claliy) sty Load 4))aY) Doulad) o .Calaa¥) @l Gaan) bl Masly dalaidl)
o o3 G Gl g ¢ RS Glagles aadid Al Aulad) Gl A L Quenlly pid) dayy anis Jal

Y Claal)l J8 e Lehilatg el 2 Al Aadaial)l iloglas

34 iaial) NP PRI R SAL Y PR P



Il Jmsll J2lsag (syslasy dlial Ja — Jo¥l galall
lasanlszly dyslually ca Il dgulaa gqaliag sylalhma

92. How can management accountants help improve quality and achieve timely product
deliveries?

Coaliall gl B claiial) andad gady Bagad) Cpeund b asbuall Ga Y] Gasalaall (e s .92
Answer:
Management accountants can help improve quality and achieve timely product deliveries by
recording and reporting an organization’s current quality and timeliness levels and by
analyzing and evaluating the costs and benefits—both financial and nonfinancial—of new
quality initiatives, such as TQM, relieving bottleneck constraints, or providing faster customer
service.
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93. What three guidelines help management accountants provide the most value to managers?
Sompiall Aad ysf b Ao Gyl Cpaadaal) aolad AN A3DEY Lgasil) sald) & L .93

Answer:

The three guidelines for management accountants are:

1. Employ a cost-benefit approach.

2. Recognize technical and behavioral considerations.

3. Apply the notion of "different costs for different purposes.”
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94. "Knowledge of technical issues such as computer technology is a necessary but not
sufficient condition to becoming a successful management accountant.” Do you agree? Why?
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Answer:

Agree. A successful management accountant requires general business skills (such as

understanding the strategy of an organization) and people skills (such as motivating other

team members) as well as technical skills (such as computer knowledge, calculating costs of
products, and supporting planning and control decisions).
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95. Where does the management accounting function fit into an organization’s structure?

Sdaliiall JOA aa Ay dpalaal) Aidiy canliss ¢f .95
Answer:
The controller is the chief management accounting executive. The corporate controller reports
to the chief financial officer, a staff function. Companies also have business unit controllers
who support business unit managers or regional controllers who support regional managers in
major geographic regions.
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96. What steps should a management accountant take if established written policies provide

insufficient guidance on how to handle an ethical conflict?
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Answer:

Steps to take when established written policies provide insufficient guidance are as follows:

(a) Discuss the problem with the immediate superior (except when it appears that the superior

is involved).

(b) Clarify relevant ethical issues by confidential discussion with an IMA Ethics Counselor or

other impartial advisor.

(c) Consult your own attorney as to legal obligations and rights concerning the ethical
conflicts.

sy
tol WS oa A pe i) e s gal) 4 gi€all il i Lavie W33 Cany ) clghadl)

(Lsie pall O sa Latie W) dlial) Gaill ge AS3a158G (1)

A e Sl o ST IMA cUBIAT Lt ae Gy Adilie YA (e LDl ADAY) Wl mun s ()
LAY il Adlaial Al §sialls LG Gl e palall dlulae il (z)

97. Value chain and classification of costs, computer company. Dell Computer incurs the
following costs:

400 cadisitl Dell Computer Jaath . siguaS 458 ¢ CadiSil) Ciyiaty dagdl) Al .97
a. Utility costs for the plant assembling the Latitude computer line of products
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b. Distribution costs for shipping the Latitude line of products to a retail chain

c. Payment to David Newbury Designs for design of the XPS 2-in-1 laptop.

d. Salary of computer scientist working on the next generation of servers

e. Cost of Dell employees’ visit to a major customer to demonstrate Dell’s ability to
interconnect with other computers

f. Purchase of competitors’ products for testing against potential Dell products

g. Payment to business magazine for running Dell advertisements

h. Cost of cartridges purchased from outside supplier to be used with Dell printers.
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Required:
Classify each of the cost items (a—h) into one of the business functions of the value chain .

- Al Al JleeY) (aillay saa) b (h - @) Al palic o jeale S Caia
Solution
Value chain and classification of costs, computer company.
Cost Item | Value Chain Business Function
Production
Distribution
Design of products and processes
Research and development
Customer service or marketing
Design of products and processes
(or research and development)
Marketing
Production

mmoo|m >
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98. Value chain and classification of costs, pharmaceutical company. Johnson & Johnson,
a health care company, incurs the following costs:

A Al s Ale A5 )4 A « Johnson & Johnson 45,4 Jaal
a. Payment of booth registration fee at a medical conference to promote new products to
physicians
b. Cost of redesigning an artificial knee to make it easier to implant in patients
c. Cost of a toll-free telephone line used for customer inquiries about drug usage, side effects
of drugs, and so on
d. Materials purchased to develop drugs yet to be approved by the government
e. Sponsorship of a professional golfer
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f. Labor costs of workers in the tableting area of a production facility
g. Bonus paid to a salesperson for exceeding a monthly sales quota
h. Cost of FedEx courier service to deliver drugs to hospitals.
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Required:
Classify each of the cost items (a—h) as one of the business functions of the value chain.

Solution

Cost Item | Value Chain Business Function
Marketing

Design of products and processes
Customer service

Research and development
Marketing

Production

Marketing

Distribution
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99. Value chain and classification of costs, fast-food restaurant. Burger King, a burger
fast-food restaurant, incurs the following costs:
DA GRS ¢ palt day pud) ciliagll ankaa gag < Burger King ashaa Jeady
a. Cost of oil for the deep fryer
b. Wages of the counter help who give customers the food they order
c. Cost of the costume for the King on the Burger King television commercials
d. Cost of children’s toys given away free with kids’ meals
e. Cost of the posters indicating the special "two cheeseburgers for $2.50"
f. Costs of frozen onion rings and French fries
g. Salaries of the food specialists who create new sandwiches for the restaurant chain
h. Cost of "to-go" bags requested by customers who could not finish their meals in the
restaurant.
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Required:
Classify each of the cost items (a—h) as one of the business functions of the value chain .

Solution

Cost Item | Value Chain Business Function
Production

Distribution

Marketing

Marketing

Marketing

Production

Design of products and processes (or
research and development)

h Customer service

QMmOO|m| >

100. Key success factors. Dominion Consulting has issued a report recommending changes
for its newest manufacturing client, Gibson Engine Works. Gibson currently manufactures a
single product, which is sold and distributed nationally. The report contains the following
suggestions for enhancing business performance:

Gibson Engine &al) asialll Wil sl )l as 1wi Dominion Consulting <jual
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a. Develop a rechargeable electric engine to stay ahead of competitors.

b. Adopt a TQM philosophy to reduce waste and defects to near zero.

c. Reduce lead times (time from customer order of product to customer receipt of product) by

20% in order to increase customer retention.

d. Negotiate faster response times with direct material suppliers to allow for lower material

inventory levels.
e. Benchmark the company’s gross margin percentages against its major competitors.
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Required:
Link each of these changes to the key success factors that are important to managers.
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Solution
Change in Operations/
Management Accounting Key Success Factor
A Innovation
B Cost and efficiency and quality
C Time
D Time and cost and efficiency
E Cost and efficiency

101. Key success factors. Vargas Construction Company provides construction services for
major projects. Managers at the company believe that construction is a people-management
business, and they list the following as factors critical to their success:
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a. Increase spending on employee development to streamline processes.
b. Foster cooperative relationships with suppliers that allow for more frequent deliveries as
and when products are needed.
c. Integrate tools and techniques that reduce errors in construction projects.
d. Train employees in green construction techniques to appeal to companies seeking LEED
certification.
e. Benchmark the company’s gross margin percentages against its major competitors.
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Required:
Match each of the above factors to the key success factors that are important to managers.
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Solution

Change in Operations/
Management Accounting Key Success Factor
Time and cost and efficiency
Time, quality, and cost and efficiency
Quality and cost and efficiency
Innovation and quality
Cost and efficiency
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102. Five-step decision-making process, manufacturing. Madison Foods makes frozen
dinners that it sells through grocery stores. Typical products include turkey, pot roast, fried
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chicken, and meatloaf. The managers at Madison have recently proposed a line of frozen
chicken pies. They take the following actions to help decide whether to launch the line.
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a. Madison’s test kitchen prepares a number of possible recipes for a consumer focus group.

b. Sales managers estimate they will sell more chicken pies in their eastern sales territory than

in their western sales territory.

c. Managers discuss the possibility of introducing a new chicken pie.

d. Managers compare actual labor costs of making chicken pies with their budgeted costs.

e. Profits from selling chicken pies are budgeted.

f. The company decides to introduce a new chicken pie.

g. To help decide whether to introduce a new chicken pie, the company researches the price
and quality of competing chicken pies.

OSlgidl e 85 de genal DSaall Clia gl (g Taxe Madison b LiaY) fidas 2y .0

dilaie; A3jlie agy Aalall 48,0l Cilepa) dilaie 3 zladll ki e hall st agdl Cilepd) e 38 LD
Vgl Slagaall

Baa s kad Jaa) 4l (gl (L .C

Ajlsal) 8 Aayaall CllSil) aa el yilad il dledl) Allaad) CadISS g el )l .d

el 8 dayae zlaal) il an e ~ L) 0

Adliall zlaall il sasms yras 8 A58 Caad ¢ B zlad Bk e oLy 8 A3 8 sacluall g
Required:
Classify each of the actions (a—g) as a step in the five-step decision-making process (identify
the problem and uncertainties; obtain information; make predictions about the future; make
decisions by choosing among alternatives; implement the decision, evaluate performance, and
learn). The actions are not listed in the order they are performed.
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Solution

Action | Step in Decision-Making Process

Obtain information.

Make predictions about the future.

Identify the problem and uncertainties.

Implement the decision, evaluate performance, and learn.
Make predictions about the future.

Make decisions by choosing among alternatives.

Obtain information.
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103. Management accounting guidelines. For each of the following items, identify which of

the management accounting guidelines applies: cost—benefit approach, behavioral and

technical considerations, or different costs for different purposes.
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1. Analyzing whether to produce a component needed for the end product or to outsource it.

2. Deciding whether to compensate the sales force by straight commission or by salary.

3. Adding the cost of store operations to merchandise cost when deciding on product pricing,

but only including the cost of freight and the merchandise itself when calculating cost of

goods sold on the income statement.

4. Considering the desirability of purchasing new technology.

5. Weighing the cost of increased inspection against the costs associated with customer

returns of defective goods.

6. Deciding whether to buy or lease an existing production facility to increase capacity.

7. Estimating the loss of future business resulting from bad publicity related to an

environmental disaster caused by a company’s factory in the Philippines, but estimating

cleanup costs for calculating the liability on the balance sheet.
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Solution
Management accounting guidelines.
1. Cost-benefit approach
2. Behavioral and technical considerations and cost-benefit approach
3. Different costs for different purposes
4. Cost-benefit approach or behavioral and technical considerations, for example, how
employees will react to the new technology
5. Cost-benefit approach

6. Cost-benefit approach
7. Different costs for different purposes.
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104. Define cost object and give three examples.

ALia] A ey AQlSHl) Caaa a3 104
Answer:
A cost object is anything for which a separate measurement of costs is desired. Examples
include a product, a service, a project, a customer, a brand category, an activity, and a
department.
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105. Define direct costs and indirect costs.

Sydliall e Caidlsilly 3ydlall Cidlsil) puas 105
Answer:
Direct costs of a cost object are related to the particular cost object and can be traced to that
cost object in an economically feasible (cost-effective) way.
Indirect costs of a cost object are related to the particular cost object but cannot be traced to
that cost object in an economically feasible (cost-effective) way.
Cost assignment is a general term that encompasses the assignment of both direct costs and

indirect costs to a cost object. Direct costs are traced to a cost object, while indirect costs are
allocated to a cost object.
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106. Why do managers consider direct costs to be more accurate than indirect costs?
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Answer:
Managers believe that direct costs that are traced to a particular cost object are more

accurately assigned to that cost object than are indirect allocated costs. When costs are
allocated, managers are less certain whether the cost allocation base accurately measures the
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resources demanded by a cost object. Managers prefer to use more accurate costs in their
decisions.
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107. Name three factors that will affect the classification of a cost as direct or indirect.
Bdba 42 5l Db Wl o AR il o 5 of il 0n dalse A dpans 1107

Answer:

Factors affecting the classification of a cost as direct or indirect include

e the materiality of the cost in question

e available information-gathering technology

e design of operations.
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108. Define variable cost and fixed cost. Give an example of each.

BSaaly 08 Jlia ae) A5l A8l §patall A8 2083 . 108
Answer:
A variable cost changes in total in proportion to changes in the related level of total activity
or volume. An example is sales commission paid as a percentage of each sales revenue dollar.
A fixed cost remains unchanged in total for a given time period, despite wide changes in the
related level of total activity or volume. An example is the leasing cost of a machine that is
unchanged for a given time period (such as a year) regardless of the number of units of
product produced on the machine.
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109. What is the relevant range? What role does the relevant-range concept play in explaining
how costs behave?

Sl it LS 7 A aidlall saal) aggda dmly A joal) g2 Le Saidlall saal) 2 L .109
Answer:
The relevant range is the band of normal activity level or volume in which there is a specific
relationship between the level of activity or volume and the cost in question. Costs are
described as variable or fixed with respect to a particular relevant range.
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110. Distinguish between inventoriable costs and period costs.

LAY Sy o sAnl ALAAY Sl Sas 110
Answer:
Inventoriable costs are all costs of a product that are considered as assets in the balance sheet
when they are incurred and that become cost of goods sold when the product is sold. These
costs are included in work-in-process and finished goods inventory (they are "inventoried") to
accumulate the costs of creating these assets.
Period costs are all costs in the income statement other than cost of goods sold. These costs
are treated as expenses of the accounting period in which they are incurred because they are
expected not to benefit future periods (because there is not sufficient evidence to conclude
that such benefit exists). Expensing these costs immediately best matches expenses to
revenues.
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111. Describe the overtime-premium and idle-time categories of indirect labor.
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Answer:
Overtime premium is the wage rate paid to workers (for both direct labor and indirect labor) in
excess of their straight-time wage rates.
Idle time is a sub classification of indirect labor that represents wages paid for unproductive
time caused by lack of orders, machine breakdowns, material shortages, poor scheduling, and
the like.
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112. Define product cost. Describe three different purposes for computing product costs.
el il laad Adlide (ol ] A5 Chua . geiial) 4RI 3aad 112

Answer:
A product cost is the sum of the costs assigned to a product for a specific purpose. Purposes
for computing a product cost include

e pricing and product mix decisions,

e contracting with government agencies, and

e preparing financial statements for external reporting under GAAP.
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113. What are three common features of cost accounting and cost management?
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Answer:
Three common features of cost accounting and cost management are:
e calculating the costs of products, services, and other cost objects.
e obtaining information for planning and control and performance evaluation.
e analyzing the relevant information for making decisions.
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Solution Exercises & Problems

‘J)W JAEJ/ UL‘)C//L?JJ
Exercises:

Solution: EXERCISE. 1.1

1. (b) Direct labor.*

2. (¢) Manufacturing overhead.
3. (c) Manufacturing overhead.
4. (c) Manufacturing overhead.
5. (a) Direct materials.

6. (b) Direct labor.

7. (c) Manufacturing overhead.
8. (c) Manufacturing overhead.
9. (c) Manufacturing overhead.
10. (a) Direct materials.

*or sometimes (c), depending on the circumstances

Solution: EXERCISE. 1.2

(@)
Bicycle components................ DM Advertising expense ................ Period
Depreciation on plant ............ MOH | Property taxes on plant ............. MOH
Property taxes on store ......... Period | Delivery expense ..................... Period
Labor costs of assembly Sales commissions ................... Period
line workers .............ccccceeeueee.. DL
Salaries paid to sales clerks .... Period | Factory supplies used .............. MOH

(b) Product costs are recorded as a part of the cost of inventory because they are an integral
part of the cost of producing the bicycles. Product costs are not expensed until the goods are
sold. Period costs are recognized as an expense when incurred.

Cipa oy Y oclabal) b 2S5 e B ¥ oeda Y o3aall AdS (e o3aS il CllSs Jias &y (D)
A v Cigpema€ 55 CallSiy Calfie ) S i) g o s il oIS

47 iaial) NP PRI R SAL Y PR P



Il Jmsll J2lsag (syslasy dlial Ja — Jo¥l galall
lasanlszly dyslually ca Il dgulaa gqaliag sylalhma

Solution: EXERCISE. 1.3

(@)
Factory utilities $15,500
Depreciation on factory equipment $12,650
Indirect factory labor $48,900
Indirect materials $80,800
Factory manager’s salary $8,000
Property taxes on factory building $2,500
Factory repairs $2,000
Manufacturing overhead $170,350

(b)
Direct materials $137,600
Direct labor $69,100
Manufacturing overhead $170,350
Product costs $377,050

(©)
Depreciation on delivery trucks $3,400
Sales salaries $46,400
Repairs to office equipment $1,300
Advertising $15,000
Office supplies used $2,640
Period costs 69,140

Solution: EXERCISE. 1.4

1.C 3.A 5.B* 7.A 9.C

2.C 4.C 6.D 8.B 10.C
*or sometimes (c), depending on the circumstances.

(g Bl e ¢ (C) Ll S *

Solution: EXERCISE. 1.5

1. (b)

2.(c)

3. (a)

4. (c) (Only for the portion that applies to the x-ray department)
5.(c)

6. (c)

7.(c)

8. (c)

9.(c)

10. (c) (Only for the portion that applies to the x-ray department)
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Solution: EXERCISE. 1.6

(a) Delivery service (product) costs:

Indirect materials $6,400
Depreciation on delivery equipment $11,200
Dispatcher’s salary $5,000
Gas and oil for delivery trucks $2,200
Drivers’ salaries $16,000
Delivery equipment repairs $300
Total $41,100
(b) Period costs:
Property taxes on office building $870
CEQ’s salary $12,000
Advertising $4,600
Office supplies $650
Office utilities $990
Repairs on office equipment $180
Total $19,290
Solution: EXERCISE. 1.7
(a)
Work in process, 1/1 $12,000
Direct materials used $120,000
Direct labor $110,000
Manufacturing overhead
Depreciation on plant $60,000
Factory supplies used $23,000
Property taxes on plant $14,000
Total manufacturing overhead $97,000
Total manufacturing costs $327,000
Total cost of work in process $339,000
Less: ending work in process $15,500
Cost of goods manufactured $323,500
Finished goods, 1/1 $60,000
Cost of goods manufactured $323,500
Cost of goods available for sale $383,500
Less: Finished goods, 12/31 $45,600
Cost of goods sold $337,900
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Solution: EXERCISE. 1.8
Total raw materials available for use:

Direct materials used $180,000
Add: Raw materials inventory (12/31) $22,500
Total raw materials available for use $202,500
Raw materials inventory (1/1):
Total raw materials available for use:
Direct materials used $180,000
Add: Raw materials inventory (12/31) $22,500
Total raw materials available for use $202,500
Less: Raw materials purchases $158,000
Raw materials inventory (1/1) $44,500
Total cost of work in process:
Cost of goods manufactured $540,000
Add: Work in process (12/31) $81,000
Total cost of work in process $621,000
Total manufacturing costs:
Total cost of work in process $621,000
Less: Work in process (1/1) $210,000
Total manufacturing costs $411,000
Direct labor:
Total manufacturing costs $411,000
Less: Total overhead $122,000
Direct materials used $180,000 $302,000
Direct labor $109,000

50 dsaall

Solution: EXERCISE. 1.9

Case A
A +$57,000 + $46,500 = $195,650 , A =$92,150

$195,650 + B =$221,500 , B = $25,850

$221,500 — C = $185,275 , C = $36,225

Case B
$68,400 + $86,000 + $81,600=D , D =%$236,000

$236,000 + $16,500 = E , E =$252,500

$252,500 — $11,000=F , F=$241500

Case C
$130,000 + G + $102,000 = $253,700 , G =$%$21,700

$253,700 + H = $337,000 , H=$83,300

$337,000 — $70,000 =1 , |=$267,000
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Solution: EXERCISE. 1.10

@)

(a) $117,000 + $140,000 + $87,000 = $344,000
(b) $344,000 + $33,000 — $360,000 = $17,000

(c) $450,000 — ($200,000 + $132,000) = $118,000
(d) $40,000 + $470,000 — $450,000 = $60,000

(e) $265,000 — ($80,000 + $100,000) = $85,000
(f) $265,000 + $60,000 — $80,000 = $245,000

(9) $288,000 — ($70,000 + $75,000) = $143,000
(h) $288,000 + $45,000 — $270,000 = $63,000

(b)

HORIZON COMPANY
Cost of Goods Manufactured Schedule
For the Year Ended December 31, 2020

(@)

Work in process, January 1 $33,000
Direct materials $117,000
Direct labor $140,000
Manufacturing overhead $87,000
Total manufacturing costs $344,000
Total cost of work in process $377,000
Less: Work in process inventory« December 31 $17,000
Cost of goods manufactured $360,000
Solution: EXERCISE. 1.11
CEPEDA CORPORATION
Cost of Goods Manufactured Schedule
For the Month Ended June 30, 2020
Work in process, June 1 $3,000
Direct materials used $20,000
Direct labor $40,000
Manufacturing overhead
Indirect labor $4,500
Factory manager’s salary $3,000
Indirect materials $2,200
Maintenance, factory equipment $1,800
Depreciation, factory equipment $1,400
Factory utilities $400
Total manufacturing overhead $13,300
Total manufacturing costs $73,300
Total cost of work in process $76,300
Less: Work in process, June 30 $3,800
Cost of goods manufactured $72,500
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(b)
CEPEDA CORPORATION
Income Statement (Partial)
For the Month Ended June 30, 2020
Sales revenue $92,100
Cost of goods sold
Finished goods inventory, June 1 $5,000
Cost of goods manufactured [from (a)] $72,500
Cost of goods available for sale $77,500
Less: Finished goods inventory, June 30 $7,500
Cost of goods sold $70,000
Gross profit 22,100
Solution: EXERCISE. 1.12
(@)
WASHINGTON CONSULTING
Schedule of Cost of Contract Services Performed
For the Month Ended August 31, 2020
Supplies used (direct materials) $1,700
Salaries of professionals (direct labor) $15,600
Service overhead:
Utilities for contract operations $1,400
Contract equipment depreciation $900
Insurance on contract operations $800
Janitorial services for professional offices $700
Total overhead $3,800
Cost of contract services provided $21,100

(b) The costs not included in the cost of contract services provided would all be classified as
period costs. As such, they would be reported on the income statement under administrative
expenses.
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Solution: EXERCISE. 1.13

(a
Work in process, 1/1 $13,500
Direct materials
Materials inventory, 1/1 $21,000
Materials purchased $150,000
Materials available for use $171,000
Less: Materials inventory, 12/31 $30,000
Direct materials used $141,000
Direct labor $220,000
Manufacturing overhead $180,000
Total manufacturing costs $541,000
Total cost of work in process $554,500
Less: Work in process, 12/31 $17,200
Cost of goods manufactured $537,300
(b)
AIKMAN COMPANY
Income Statement (Partial)
For the Year Ended December 31, 20200
Sales revenue $910,000
Cost of goods sold
Finished goods, 1/1 $27,000
Cost of goods manufactured $537,300
Cost of goods available for sale $564,300
Less: Finished goods, 12/31 $21,000
Cost of goods sold $543,300
Gross profit $366,700
(©
AIKMAN COMPANY
(Partial) Balance Sheet
December 31, 2020
Current assets:
Inventories
Finished goods $21,000
Work in process $17,200
Raw materials $30,000 $68,200

(d) In a merchandising company’s income statement, the only difference would be in the
computation of cost of goods sold. Beginning and ending finished goods would be replaced
by beginning and ending inventory, and cost of goods manufactured would be replaced by
purchases. In a merchandising company’s balance sheet, there would be one inventory
account (inventory) instead of three.
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Solution: EXERCISE. 1.14

1. (a) 9. (a)
2. (a) 10. (a), (b)
3. (8),(c) 11. (b)
4. (b) 12. (b)
5. (a) 13. (a)
6. (a) 14. (a)
7.(a) 15. (a)
8. (b), (c) 16. (a)
Solution: EXERCISE. 1.15
(a
ROBERTS COMPANY
Cost of Goods Manufactured Schedule
For the Month Ended June 30, 2020
Work in process inventory, June 1 $5,000
Direct materials
Raw materials inventory, June 1 $9,000
Raw materials purchases $54,000
Total raw materials available for use $63,000
Less: Raw materials inventory, June 30 $13,100
Direct materials used $49,900
Direct labor $47,000
Manufacturing overhead
Indirect labor $5,500
Factory insurance $4,000
Machinery depreciation $4,000
Factory utilities $3,100
Machinery repairs $1,800
Miscellaneous factory costs $1,500
Total manufacturing overhead $19,900
Total manufacturing costs $116,800
Total cost of work in process $121,800
Less: Work in process inventory, June 30 $7,000
Cost of goods manufactured $114,800
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(b)

ROBERTS COMPANY
(Partial) Balance Sheet
June 30, 2020

Current assets:
Inventories
Finished goods $8,000
Work in process $7,000
Raw materials $13,100 $28,100

Solution: EXERCISE. 1.16

Raw Materials account: (5,000 - 4,650) x $15 = $5,250

Work in Process account: (4,600 x 10%) x $15 = $6,900
Finished Goods account: (4,600 x 90% x 30%) x $15 = $18,630
Cost of Goods Sold account: (4,600 x 90% x 70%) x $15 = $43,470
Selling Expenses account: 50 x $15 = $750

Proof of cost of head lamps allocated (5,000 x $15 = $75,000)
dnaadal duleY) mybad) 4S5 L)

Raw materials $5,250

Work in process $6,900

Finished goods $18,630

Cost of goods sold $43,470

Selling expenses $750

Total $75,000
(b)

To: Chief Accountant
From: Student
Subject: Statement Presentation of Accounts
Oplaall e 1 )
ddall £ opa

Glluall Oly (ase 1g g sall
Two accounts will appear in the income statement. Cost of Goods Sold will be deducted from
net sales in determining gross profit. Selling expenses will be shown under operating
expenses and will be deducted from gross profit in determining net income. Sometimes, the
calculation for Cost of Goods Sold is shown on the income statement. In these cases, the
balance in Finished Goods inventory would also be shown on the income statement.
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The other accounts associated with the head lamps are inventory accounts which contain end-
of-period balances. Thus, they will be reported under inventories in the current assets section
of the balance sheet in the following order: finished goods, work in process, and raw
materials.
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Solution: EXERCISE. 1.17

Schedule Of Cost Of Goods Manufactured
for the year ended 31 December 2018 (in $ million)
$ million $ million

Direct materials used 13.05
Direct manufacturing labour costs 15.10
Indirect manufacturing costs:

Property tax on plant building 0.45

Plant utilities 2.56

Depreciation of plant building 1.35

Depreciation of plant equipment 1.65

Plant repairs and maintenance 2.40

Indirect manufacturing labour costs 3.45

Indirect materials used 1.65
Miscellaneous plant overhead 0.60 14.10
Manufacturing costs incurred during 2018 32.25
Add opening work in progress stock, 1 January 2018 3.00
Total manufacturing costs to account for 35.25
Deduct closing work in progressstock,31December 2018 3.90
Cost of goods manufactured 31.35

Schedule Of Cost Of Goods Sold
for the year ended 31 December 2018 (in $ million)
$ million

Opening finished goods, 1 January 2018 4.05

Cost of goods manufactured (above) 31.35

Cost of goods available for sale 35.40

Closing finished goods, 31 December 2018 5.10

Cost of goods sold 30.30
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Solution: EXERCISE. 1.18

Howell Ltd
Income Statement for the Year Ended 31 December 2018
(in $ million)
$ million $ million

Revenues 950
Cost of goods sold:

Opening finished goods, 1 January 2018 70

Cost of goods manufactured (below) 645

Cost of goods available for sale 715

Closing finished goods, 31 December 2018 55 660
Gross margin 290
Marketing, distribution and customer-service costs 240
Operating income 50

Howell Ltd
Schedule Of Cost Of Goods Manufactured
for the year ended 31 December 2018 (in $ millions)
$ million | $ million | $ million

Direct materials costs:

Opening stock, 1 January 2018 15

Purchases of direct materials 325

Cost of direct materials available for use 340

Closing stock, 31 December 2018 20
Direct materials used 320
Direct manufacturing labour costs 100
Indirect manufacturing costs:

Indirect manufacturing labour 60

Plant supplies used 10

Plant utilities 30

Depreciation — plant, building and 80

equipment

Plant supervisory salaries 5

Miscellaneous plant overhead 35 220
Manufacturing costs incurred during 2018 640
Add opening work in progress stock, 1 January
2018 10
Total manufacturing costs to account for 650
Deduct closing work in progress, 31 December
2018 5
Cost of goods manufactured $ 645
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Solution: EXERCISE. 1.19
Let G = given, | = inferred.

e Ui = | ¢ Jaea = G Loy lie

Step 1: Use gross margin formula Casel Case 2
Revenues $32.000G | $31,800G
Cost of goods sold A20,7001 | 20,000G
Gross margin 11,300G | C11,800I1
Step 2: Use schedule of cost of goods

manufactured formula Case 1 Case 2
Direct materials used $8,000G | $2,000G
Direct manufacturing labour costs 3,000G 5,000G
Indirect manufacturing costs 7,000G D6,5001
Manufacturing costs incurred 18,0001 23,5001
Add opening work in progress, 1 January 0G 800G
Total manufacturing costs to account for 18,0001 24,3001
Deduct closing work in progress, 31 December 0G 3,000G
Cost of goods manufactured 18,0001 21,3001
Step 3: Use cost of goods sold formula Case 1 Case 2
Opening finished goods stock, 1 January $4,000G | $4,000G
Cost of goods manufactured 18,0001 21,3001
Cost of goods available for sale 22,0001 25,3001
Closing finished goods stock, 31 December B1,300I 5,300G
Cost of goods sold 20,7001 20,000G

For case 1, do steps 1, 2 and 3 in order.... For case 2, do steps 1, 3 and then 2.

Solution: EXERCISE. 1.20
1. Cost of goods sold (or COGS)

= Revenue x ( 1 — gross margin percentage based on sales) = 10(1-0.2) =8

<=> Cost of goods available for sales — Closing finished goods stock = COGS

<=> 9 — Closing finished goods stock = 8
<=> Finished goods stock (as at 26" Feb) = 1

2. Indirect manufacturing costs = 40% of conversion cost

=> DL cost = 60% of conversion cost => conversion cost = 3.6/0.6 =6

=> Indirect manufacturing costs = 6 x 40% = 2.4

Manufacturing costs = DM cost + DL cost + Indirect manufacturing costs

=228+3.6+24=8.28

Cost of goods manufactured = Cost of goods available for sales — Opening finished goods

stock=9-0.6=8.4

Work-in-progress stock (26 February) = Work-in-progress stock( 1% Jan) + Manufacturing
costs — Cost of goods manufactured = 0.68 + 8.28 — 8.4 = 0.56

3. Prime cost = DM cost + DL cost
<=>5.88 = DM cost + 3.6 6 DM cost = 2.28

DM cost = DM ( 1st Jan) + DM purchased — DM (26" Feb)
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<=>2.28=0.32 + 3.2 - DM (26" Feb)
<=> DM (26" Feb) = 1.24

Solution: EXERCISE. 1.21

1. If 2 kg of direct materials are used to make each unit of finished product,
100,000 units x 2 kg or 200,000 kg were used at $ 10.70 per kg of direct materials
($140,000 + 200,000 Kkg).

Therefore, the closing stock of direct materials is 2000 kg x $0.70 = $1,400.

2.

Manufacturing costs for 100,000 units
Variable Fixed Total

Direct materials costs $140,000 $0 $140,000
Direct manufacturing labour costs $30,000 $0 $30,000
Plant energy costs $5,000 $0 $5,000
Indirect manufacturing labour costs $10,000 $16,000 $26,000
Other indirect manufacturing costs $8,000 $24,000 $32,000
Cost of goods manufactured $193,000 $40,000 $233,000

Average unit manufacturing cost: =€233,000 + 100,000 units = $ 2.33 per unit

- L 20,970 (gi .
Finished goods stock in units: = $ (‘gwe_n): 9,000 units
$2.33 per unit

3. Units sold in 2018 = Opening stock + Production — Closing stock
=0+ 100,000 — 9000 = 91,000 units
Selling price per unit in 2018 = $436,800 + 91,000 = $4.80 per unit

4,
Revenues (91,000 units sold x €4.80) $436,800
Cost of units sold:
Opening finished goods, 1 January 2018 $0
Cost of goods manufactured $233,000
Cost of goods available for sale $233,000
Closing finished goods, 31 December 2018 $20,970 $212,030
Gross margin $224,770

Operating costs:
Marketing, distribution and customer-

service costs $162,850
Administrative costs $50,000 $212.850
Operating income $11,920
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Solution: EXERCISE. 1.22

a. Value-chain. The price needs to cover all product costs, including the costs of developing,
selling, and servicing.

b. Manufacturing. This approach is mandated for external reporting.

c. Value-chain. Product mix decisions should consider all costs, and the mix that is the most
profitable in the long run should be selected.

d. Operating. The designs should be driven by the effect they have on production, marketing,
and servicing costs. Thus, the operating cost definition is the most relevant.

e. Manufacturing. This approach is mandated for external reporting.

f. Operating. Research and design costs are not relevant for a price decision involving an
existing product. Production, marketing, and servicing costs are relevant, however.

g. Operating. Any special order should cover its costs, which potentially include production,
marketing, and servicing costs.

h. Value-chain. This is a strategic decision and involves activities and costs throughout the
entire value chain.

i. Operating. At this point, the costs of design and development are sunk costs; the decision to
produce should consider the costs of production, marketing, and servicing the product.
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Solution: EXERCISE. 1.23
1. Direct materials used = $50,800 + $150,000 — $21,500 = $179,300

2.
Direct materials $179,300
Direct labor $200,000
Overhead $324,700
Total manufacturing cost $704,000
Add: Beginning WIP $58,500
Less: Ending WIP $(23,500)
Cost of goods manufactured $739,000

Unit cost of goods manufactured = $739,000 +100,000 = $7.39

3. Direct labor = $7.39 — $1.70 — $3.24 = $2.45
Prime cost = $1.70 + $2.45 = $4.15
Conversion cost = $2.45 + $3.24 = $5.69

Solution: EXERCISE. 1.24

1. Beginning inventory + Purchases — Ending inventory = DM used
$21,000 + $352,000 — Ending inventory = $300,000

Ending inventory = $73,000

2. Units in beginning finished goods inventory = $4,680/$5.85 = 800

Beginning inventory 800
Inventory produced 12,000
Inventory available 12,800
Less: ending inventory X)
Inventory sold 8,900

800 + 12,000 - X = 8,900, X =3,900

3. Cost of goods manufactured = $50,000 +$93,000 — $18,750 = $124,250

4.32=DL + OH (1)
19.5=DM + DL )
39.5=DM + DL + OH (3)

(3)-(2):395-195=(DM + DL + OH) — (DM + DL); OH=39.5-19.5=20
Replace OH in (1): 32 =DL +20; DL=32-20=12

Replace DL in (2): 19.5 =DM + 12; DM = 7.5

Alternatively,

(3)-(1):395-32=(DM +DL + OH) - (DL + OH); DM =7.5

5. Total manufacturing costs added + BWIP — EWIP = COGM

$156,900 + $60,000 — EWIP = $125,000

EWIP = $91,900

Prime cost + Overhead = Total manufacturing costs added
$90,000 + Overhead = $156,900
Overhead = $66,900
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Solution: EXERCISE. 1.25

Beckman Company
Statement of Cost of Goods Manufactured
For the Month of November
Direct materials:
Beginning inventory $48,500
Add: Purchases $70,000
Materials available $118,500
Less: Ending inventory $(15,900)
Direct materials used in production $102,600
Direct labor $22,000
Manufacturing overhead $216,850
Total manufacturing costs added $341,450
Add: Beginning work in process $10,000
Less: Ending work in process $(6,050)
Cost of goods manufactured $345,400
Beckman Company
Statement of Cost of Goods Sold
For the Month of November

Cost of goods manufactured $345,400

Add: Beginning finished goods inventory $10,075

Cost of goods available for sale $344,475

Less: Ending finished goods inventory $(8,475)

Cost of goods sold $347,000

Solution: EXERCISE. 1.26

1. Units in ending finished goods = 6,000 + 270,000 — 274,000 = 2,000

Costs of finished goods ending inventory = 2,000 x $5.10* = $10,200

*Since the unit cost of beginning finished goods and the unit cost of current production both
equal $5.10, the unit cost of ending finished goods must al-so equal $5.10. The equality of the
unit cost also avoids the problem of cost flow assumptions (e.g., FIFO, LIFO).
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2.
Photo-Dive, Inc.
Statement of Cost of Goods Sold
For the Year Ended December 31
Cost of goods manufactured ($5.10 x 270,000) $1,377,000
Add: Beginning finished goods inventory $30,600
Cost of goods available for sale $1,407,600
Less: Ending finished goods inventory $(10,200)
Cost of goods sold $1,397,400
3.
Photo-Dive, Inc.
Income Statement: Absorption Costing
For the Year Ended December 31
Sales (274,000 x $8) $2,192,000
Cost of goods sold $1,397,400
Gross margin $794,600
Less operating expenses:
Research and development $70,000
Commissions (274,000 x $0.25) $68,500
Advertising copayments $36,000
Administrative expenses $83,000 $(257,500)
Operating Income $537,100
Solution: EXERCISE. 1.27
1.
Thomson Company
Statement of Cost of Goods Manufactured
For the Year Ended December 31
Direct materials:
Beginning inventory $47,000
Add: Purchases $160,400
Freight-in on materials $1,000
Materials available $208,400
Less: Ending inventory $(17,000)
Direct materials used $191,400
Direct labor $371,500
Manufacturing overhead:
Material handling $26,750
Supplies $37,800
Utilities $46,000
Supervision and indirect labor $190,000
Total overhead costs $300,550
Total manufacturing costs added $863,450
Add: Beginning work in process $201,000
Less: Ending work in process $(98,000)
Cost of goods manufactured $966,450
63 iniall e o i Sa iy M B rin - LIS



Il Jmsll J2lsag (syslasy dlial Ja — Jo¥l galall
lasanlszly dyslually ca Il dgulaa gqaliag sylalhma

2.
Thomson Company

Statement of Cost of Goods Sold

For the Year Ended December 31
Cost of goods manufactured $966,450
Add: Beginning finished goods inventory $28,000
Cost of goods available for sale $994,450
Less: Ending finished goods inventory $(45,200)
Cost of goods sold $949,250

Solution: EXERCISE. 1.28

1.
Beginning inventory, materials $850
+ Purchases $9,750
— Ending inventory, materials $(950)
Materials used in production 9,650

2. Prime cost = $9,650 + $18,570 = $28,220
3. Conversion cost = $18,570 + $15,000 = $33,570

4,
Direct materials $9,650
Direct labor $18,570
Overhead $15,000
Cost of services $43,220
5.
Compufix
Income Statement
For the Month Ended August 31
Sales revenues $60,400
Cost of services sold $43,220
Gross margin $17,180
Operating expenses:
Advertising $(5,000)
Administrative costs $(3,000)
Operating Income 9,180
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Solution: EXERCISE. 1.29

1. Thomas is interested in the manufacturing costs of glaxane. In particular, the costs of direct
materials, direct labor, and overhead will be calculated to budget for glaxane production.

:dLA’J‘j E)-A-IIL‘AA” JbAj‘ &J.-)MSJ A_lLu:t;‘ ?:\:\u ua‘yaaj\ 4a ‘;‘; . glaxane K - k_G:\nS:\_\ Thomas e:%ﬁ .1
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2. Theo will be concerned with all costs along the value chain. Clearly, the after-sale costs
will be an important factor in pricing since the potential for fatal side effects will lead to both
lawsuits and the withdrawal of glaxane from the market. However, Theo must also be
concerned with the costs of research, development, and production since pharmaceutical
companies at-tempt to link all of these costs to a drug to justify their pricing strategies.
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3. Tamara will be primarily concerned with the overall research and development costs and
the eventual revenue from the successful drugs. Any individual potential drug can turn out to
have no value as long as some drug projects are successful and can justify the total efforts.
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Solution: EXERCISE. 1.30
1. Direct materials used = $52,700 + $270,000 — $42,700 = $280,000

2.

Direct materials $280,000
Direct labor $304,000
Overhead $506,000
Total manufacturing cost $1,090,000
Add: Beginning WIP $25,000

Less: Ending WIP $(50,000)
Cost of goods manufactured $1,065,000

Unit cost of goods manufactured = $1,065,000/25,000 = $42.60
3. Overhead per unit = $42.60 — $11.00 — $12.00 = $19.60
Prime cost = $11 + $12 = $23

Conversion cost = $12.00 + $19.60 = $31.60
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Solution: EXERCISE. 1.31

1.
Cost of goods manufactured $1,065,000
Add: Beginning finished goods inventory $75,000
Less: Ending finished goods inventory $(140,000)
Cost of goods sold $1,000,000
2.
Huebert Company
Income Statement
For the Year Ended December 31
Sales revenues $1,940,000
Cost of goods sold $1,000,000
Gross margin $940,000
Less: Selling and administrative expense $(288,300)
Operating Income $651,700

Solution: EXERCISE. 1.32
1. The value chain for Sheldon Radio follows:

1ok WS Sheldon sl ) desl) Al |

Steps in the Value
Chain

Steps in the Value Chain
dagll) Al B ol ghad

Steps in the Value Chain
dal) Abidis & ol ghad

Sheldon not involved at this

step in the value chain.

5 shall oda & Sheldon &)L &l
Al Al 3

First: Raw materials.
AV ) gl s Y

Sheldon not involved at this step in

the value chain,.

& sshall o3 & Sheldon &Ly A
il AL

Sheldon not involved at this
step in the value chain; the
cost is $120 to Sheldon.
5 shall s3a 4 Sheldon & L &l
120 44l ¢ Lol Aluds b
Sheldond 1,¥ 52

Second: Manufacture
of parts for the radio.
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Third: Manufacture
of components.
RPN a -G

Sheldon purchases $130 of
these parts.
e 1,¥53 130 Sheldon RN
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Fourth: Assembly. - Sheldon’s costs are $110.

enil uub

Sheldon not involved at this step in
the value chain; the cost of these
parts is $120 to Sheldon (Note:
$120 is the $250 total less $130 for
purchased parts that could be
manufactured)
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- Sheldon manufactures these parts :
- for $80 each plus monthly costs of -
- $35,000 :
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Fifth: Marketing, Sheldon s costs are
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distribution and ~ $125,000 per month. f?out to Brashear Enterprises for
service. ~ I 125000 Sheldon <5 4l 2 $105 each.
sl (3 sml) ;Lals Logd J¥sa 0 Brashear 4S,3 g« Sheldon s
Aardlge e JSI I, 92 105 Jias Enterprises
Costs Summary: Purchase of components: Unit costs for manufacture of
il jadle | $130 x 500 = $65,000 components ($80 x 500) + monthly

b &all ¢l % | cost of $35,000 for labor and
65000 = 500 x ¥ 130 | equipment= $75,000.
DY | 500 x 80) <l Sall auieat] 3as 5l CallSs
Y52 35000 4g_peid) AdSA + (LY 50
Y 5275000 = laxall g dllaall
The total cost of purchase is less
than the cost of manufacture by
$10,000.
i) 4815 e 81 o) il dllany) dall)
¥ 5210000 e
Monthly cost for marketing, | Monthly cost of Brashear contract:

distribution, and service: $105 x 500= $52,500.
$125,000. :Brashear 8l 4, jg.&l) 441<5)
@Jﬂ\j@;ﬂﬂ@)@.ﬂ\uﬁﬂ\ ¥ 9252500 =500 x L,¥ 2105

Y52 125000 :4e231 5 | The total cost of the Brashear
contract is less than the cost of
the inside service by $72,500.
(e 8l Brashear s dllea) 4alsil)
OY¥5372500 ey i )al) Aeadl) A4lSs

2. The value-chain analysis shows that Sheldon can save $10,000 by choosing to continue to
purchase rather than to manufacture the parts, and Sheldon could save an additional $72,500
by outsourcing the marketing, distribution, and service costs. Perhaps, on the basis of
reducing costs, Sheldon should choose to continue to purchase the components and to
outsource the marketing, service and distribution function. However, Sheldon also needs to
consider its strategic competitive position. If its customers rely upon Sheldon primarily for its
service and reliability, then the contracting-out of the marketing, distribution, and service
functions could be unwise. Moreover, the decision to continue to purchase the parts should
also consider the possibility that by manufacturing the parts, Sheldon could significantly
improve the reliability and quality of the product. This would improve the competitiveness of
the product and might be worth the lost savings of $10,000.
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Solution: EXERCISE. 1.33

The Riding Academy program fits best near the end of Harley-Davidson’s value chain, near
to the customer  (http://www.harley-davidson.com/content/h-d/en_US/home/learn-to-
ride/new-rider-course.html). In this program the firm provides a customer service that is
unique in the industry and potentially an important way to attract new customers. Moreover,
the program can be an important new source of income for Harley-Davidson. As new riders,
and perhaps some of the veterans, find they can improve their cycling skills, the program
could become a popular and a significant source of new income for the firm.

Juanll e il ¢ Harley—Davidson ded dluls dle i Juadl (<3 Riding Academy celin sy
http: //www.harley—davidson.com/content/hd/en_US/home/learn—-to-ride/new-rider -)
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AGEN el J2all Lege Taass Leili haiae zalipll muay
The women’s program fits both the upstream and downstream ends of the HD value chain.
The program involves both a design approach to develop a product for women and also a
customer service effort involving the magazine and other programs directed to increase the
interest of women in the product.
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Both programs fit the HD strategy of broadening its customer base beyond the loyal but
dwindling HD customer base.

Another aspect of value chain for HD is its financing unit. As for many manufacturers,
including the auto companies, General Electric, and the large software firms such as Oracle,
Harley-Davidson has a finance unit that finances the sale of its motorcycles for many of its
customers.
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Note: HD has recently simplified its downstream value chain. HD once owned a 98% share of
Buell Motorcyle, a company known for its high-end and successful racing cycles. HD
divested the Buell brand in 2009 to focus on its main brand after the recession of 2007-2008
caused motorcycle sales to drop by more than 50%. In the summer of 2013 Buell partnered
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with the Indian company, Hero MotoCorp, to design low-cost bikes for the Indian market
where price and durability are key. The Buell-Hero partnership was undone by bankruptcy in
2015. Buell and Hero at one time could have been described as extensions (downstream) of
HD’s value chain. Now HD is planning to expand its downstream value chain by building
factories in Asia to support the growing market for bikes in those countries .
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Solution: EXERCISE. 1.34

The value chain for the Asda jeans, as described, is a three step process, beginning with
manufacturing in Bangladesh and then shipping from Bangladesh to the UK, and then
presentation and sale in the Asda store. A manager would consider how to improve quality
and reduce cost throughout the value chain, perhaps by resourcing the manufacturing to
reduce shipping costs or reducing in-store selling costs. Another approach might be to add
cost and add value through a redesign of the jean. For example, Levi Strauss has developed a
jean that requires much less water to produce. Called the Waste-Less jean, this product has a
much reduced environmental impact relative to other jeans.
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The role of the value chain is to provide a basis for identifying where in the life cycle of the
product it might be possible to reduce cost, increase value, or become more competitive. It is
pretty clear from the example that the downstream activities of shipping and sales together
generate the greatest cost. Do they also generate the greatest value?
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Solution: EXERCISE. 1.35

Situation

Best Cost Driver

Justification _z sl

1.

Number of Setups

lalac Y dae

Because each setup takes the same amount of time, the best

cost driver is number of setups. Data is both plausible,

reliable, and easy to maintain.
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Setup Time
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Longer setup times result in more consumption of

mechanics’ time. Simply using number of setups as in

situation 1 will not capture the diversity associated with

this activity.
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Cubic Feet

Assuming that all products are stored in the warehouse for

about the same time (that is inventory turnover is about the

same for all products), and that products are stacked, the

volume occupied by products is the best cost driver.
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Cubic Feet Weeks
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If some types of product are stored for more time than
others, the volume occupied must be multiplied by a time
dimension. For example, if product A occupies 100 cubic
feet for an average of 2 weeks and product B occupies only
40 cubic feet but for an average of 10 weeks, product B
should receive twice as much allocation of warehouse
occupancy costs.
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Number of Orders
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Because each order takes the same amount of time, the best
cost driver is number of orders. Data is both plausible,
reliable, and easy to maintain.
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Number of Orders

Each order is for different types of products but there is not
diversity between them in terms of the time it takes to
process the order. (If there was variability in the number of
product types ordered, the best driver would be number of
order line items.).
o e £ 58 2a s Y OS5 laiall (e Al £ 53 Ganade b S
gl s 8 ol @llia (IS 1Y)l dallaal (5 jrieal) Ci gl Cua
(2Rl el palic 2o g Cue Juall ) Sand ¢4 gllaall cilaiial)

70 dsaall

SRS UV SR SN AV 3o — NS




Il Jmgll Joliag ogslass Bl Ja — Jo¥l galall
lasalyzly &gty o dlegll Rpalaa gpaloag sylidlca

Solution: EXERCISE. 1.36

1. The cost of labor and equipment rent is fixed at $21,000 per month. Cleaning supplies cost
varies in proportion to the number of times the store is cleaned. The cost per cleaning is
$12,000 + 60 = $200.

Number of Times Labor & Cleaning Supplies Total Cost per
Store Is Cleaned Rent Cost Cost at$200 per Cost Cleaning
Cleaning

35 $21,000 $7,000 $28,000 | $800.00
40 $21,000 $8,000 $29,000 $725.00
45 $21,000 $9,000 $30,000 $666.67
50 $21,000 $10,000 $31,000 $620.00
55 $21,000 $11,000 $32,000 $581.82
60 $21,000 $12,000 $33,000 $550.00

The total cost of cleaning for the next quarter is:
Total cost = Total Fixed Cost + Total Variable Cost
=3 x $21,000 + (50 + 46 + 35) x $200 per Cleaning
= $63,000 + $26,200 = $89,200

2.

Cleaning Costs at Super Valu

$35,000

$30,000

$25,000
B $20,000 ¢
L
=
g o ”’0

$10,000 - —

$5,000
F0 |
35 40 45 50 55 [#{0]

Numhber of Times Cleaned

Jals syl Q B =i | _.LML'_....A
Labor and Rent Jleaning Supplies Total Cost AJ<3l sl
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3.
Costs of Super Valu Cleaning Store
Month Number of Outside
Times Store Labor & Cleaning Cleaning
Is Cleaned Rent Cost | Supplies Cost | Total Cost Cost

June 35 $21,000 7,000 28,000 25,200

May 46 $21,000 9,200 30,200 33,120

April 50 $21,000 10,000 31,000 36,000
89,200 94,320

Super Value will save $94,320- $89,200 = $5,120 by continuing to do its own cleaning rather
than using the outside cleaning company, as shown in the above schedule.

adanilly Ll 8 haia) DA e [V 5,120 = 1352 89,200 — 1,¥52 94,320 ] Super Value jisis
el Joanll b mase 8 LS ¢ dm)lall Cadanill 4S8 aladiul (e Yy g Galal)

Solution: EXERCISE. 1.37

Direct material:

Mulch «iall s s $320

Landscaping rock 4kl Hhliall 3 jaa $1,580

Plants and pots (3! s¥! 5 il $1,950 $3,850
Direct labor:

Trumble’s salary ($3,000 + 20 = $150 per day; $300

$150 x 2 days to design) $ 300

Gardeners’ wages ($3,840 + 20 = $192 per day; $960 $1,260
$192 x 5 days to complete)

Overhead:

Allocated depreciation ($200 + 20 work days) $10

Construction permit sl 4as $95

Allocated rent (150 + 3,000 = 5%; $2,400 x .05 =

$120; $120 + 30 = $4 per day x 2 days) $8*

Allocated utility bills Lawiall ¢ Sl 5 sladl il 8

($1,800 x .05 = $90; $90 + 30 =$3 per day x 2 days) $6* $119

*Note: The rent and utility bills were allocated only because of the designer’s use of space in
the company offices. Given the immaterial amount of these allocations, Carolyn Gardens may
simply want to treat these costs as period costs rather than attempting to trace them to
individual jobs. Thus, an answer of $105 for overhead would also be reasonable.

el Tlas A0 (ol b Aaliall panadd) Aladid G i 3hally SlagY) 8 (anadd O rdlaadle *
CllSs Ll e cadlsal) oaa e Jalaill 4 ddaluw Carolyn Gardens e 3 ¢ Glaadall s3] Lkl e
g (sSin 80 e @l @ 105 Ala) o ¢ Jally Lol Caillsll leais Aglae (e Yoy 35

A
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Solution: EXERCISE. 1.38

a. 6,000 total hours — 5,000 regular hours = 1,000 overtime hours
b. Direct labor: 5,000 hours x $9 per hour = $45,000

Overhead: $54,000 — $45,000 = $9,000

c. Shift premiums:
Second shift: 10% x $9 = $0.90

Overtime premium: 75% x $9 = $6.75

Overhead costs:

Second shift premium: 2,500 hours x $0.90 = $2,250
Overtime premium: 1,000 hours x $6.75 = $6,750

Solution: EXERCISE. 1.39

Irresistible Art
Schedule of Cost of Goods Manufactured
For the Month Ended July 31, 2020

Beginning WIP Inventory $146,400
Beginning RM Inventory $93,200
Raw material purchased $656,000
Raw material available $749,200
Ending RM Inventory $(69,600)
Raw material used $679,600
Indirect material used (plugged) $(175,600)
Direct material used (given) $504,000
Direct labor ($788,000 x 0.75) $591,000
Overhead:

Various (given) $600,000

Indirect material (from above) $175,600

Indirect labor ($788,000 x 0.25) $197,000 $972,600
Total cost to account for $2,214,000
Ending WIP Inventory $(120,000)
Cost of goods manufactured $2,094,000
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Solution: EXERCISE. 1.40

a.
Targe Co.
Cost of Goods Sold Schedule
For the Month Ended March 31, 2020
Beginning FG Inventory (given) $125,000
Cost of goods manufactured $2,537,500
Cost of goods available for sale 2,662,500
Ending FG Inventory (given) (18,400)
Cost of goods sold (given) 2,644,100
b.
Targeé Co.
Cost of Goods Manufactured Schedule
For the Month Ended March 31, 2020
Beginning WIP Inventory (given) $90,000
Direct material:
Beginning DM Inventory (given) $30,000
Direct material purchased $1,182,000
Direct material available $1,212,000
Ending DM Inventory (given) $(42,000)
Direct material used $1,170,000
Direct labor $400,000
Overhead $900,000
Total cost to account for $2,560,000*
Ending WIP Inventory ($90,000 x .25) $(22,500)
Cost of goods manufactured (from part a) $2,537,500

*Total cost to account for = Beg. WIP + DM used + DL + OH

$2,560,000 = $90,000 + $1,170,000 + DL + OH
DL + OH = $2,560,000 — $90,000 — $1,170,000
DL + OH = $1,300,000

OH =225% of DL =2.25 DL

DL +2.25 DL = $1,300,000,, 3.25 DL = $1,300,000, DL = $400,000

OH = $400,000 x 2.25 = $900,000

. Prime cost =DM + DL = $1,170,000 + $400,000 = $1,570,000
d. Conversion cost = DL + OH = $400,000 + $900,000 = $1,300,000
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Solution: EXERCISE. 1.41

a.

The Details

Debit ($)

Credit ($)

1.

Work in Process Inventory
Supplies Inventory
To record supplies usage for audit engagements

5,000

5,000

Travel Expense
Cash
To record travel expenses for partner

8,000

8,000

Fixed Overhead Control
Accumulated Depreciation — laptops
To record laptop depreciation

6,500

6,500

Depreciation Expense
Fixed Overhead Control

Accumulated Depreciation — building
To record depreciation on NYC building

52,500
97,500

150,000

Work in Process Inventory
Salaries Payable
To accrue partner salaries

200,000

200,000

Work in Process Inventory
Salaries Payable
To accrue audit salaries

257,900

257,900

Work in Process Inventory
Cash
To record audit-related travel costs

19,400

19,400

Insurance Expense
Fixed Overhead Control
Prepaid Insurance and Taxes
To record expiration of prepaid insurance and property
taxes on downtown building

6,055
11,245

17,300

Variable Overhead Control
Wages Payable
To accrue secretarial wages

3,400

3,400

10.

Salaries Payable
Wages Payable
Cash
To pay accrued salaries and wages

457,900
3,400

461,300
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b. Cost of Services Rendered: 4waiall culaaal) 4815

Supplies used $5,000
Labor:
Partner salaries $200,000
Audit salaries $257,900 $457,900
Overhead:
Laptop depreciation $6,500
Depreciation on building $97,500
Travel $19,400
Insurance and taxes $11,245
Indirect labor $3,400 $138,045
Total cost of services rendered $600,945
Solution: EXERCISE. 1.42
a.
Black Hills Manufacturing Co.
Statement of Cost of Goods Manufactured
For the Month Ended January 31, 2020
Materials:
Inventory, January 1 $25,000
Purchases $21,000
Total cost of available materials $46,000
Less inventory, January 31 $22,000
Cost of materials used $24,000
Less indirect materials used $1,000
Cost of direct materials used in production $23,000
Direct labor $18,000
Factory overhead:
Indirect materials $1,000
Indirect labor $3,000
Other $8,000
Total factory overhead $12,000
Total manufacturing cost $53,000
Add work in process inventory, January 1 $24,000
$77,000
Less work in process inventory, January 31 $20,000
Cost of goods manufactured $57,000
b.
Finished goods inventory, January 1 $32,000
Add cost of goods manufactured $57,000
Goods available for sale $89,000
Less finished goods inventory, January 31 $30,000
Cost of goods sold $59,000
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Solution: EXERCISE. 1.43

The general formula for solving all three cases is as follows:

Beginning inventory of finished goods + Cost of goods manufactured during period — Ending

inventory of finished goods = Cost-of goods sold expense

Using this formula, we can find the missing amounts as follows:

Case | Case Il Case Il
Beginning inventory of finished goods $84,000* $12,000 $7,000
Cost of goods manufactured during period | $419,000 $95,000 $318,000*
Ending inventory of finished goods $98,000 $8,000 $21,000
Cost of goods sold $405,000 $99,000* $304,000
*Amount missing in exercise.
Solution: EXERCISE. 1.44
1.
Hours worked 40 hrs.
Wage rate x$18
Total compensation $720
2. Classification:
Direct labor (36 hours x $18) $648
Overhead (idle time: 4 hours x $18) $72
Total compensation $720
Solution: EXERCISE. 1.45
1.
Regular wages (40 hours x $16) $640
Overtime wages (5 hours x $24) $100
Total compensation $740
2.
Overtime hours 5 hrs.
Overtime premium per hour ($24 - $16) x $4
Total overtime premium $20
3. Classification:
Direct labor (45 hours x $16) $720
Overhead (overtime premium: 5 hours x $8) $20
Total compensation $740
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Solution: EXERCISE. 1.46

1.
Alexandria Aluminum Company
Schedule Of Cost Of Goods Manufactured
For The Year Ended December 31, 2021
Materials:
Raw-material inventory, January 1 $60,000
Add: Purchases of raw material $250,000
Raw material available for use $310,000
Deduct: Raw-material inventory, December 31 $70,000
Raw material used $240,000
Direct labor $400,000
Manufacturing overhead:
Indirect material $10,000
Indirect labor $25,000
Depreciation on plant and equipment $100,000
Utilities $25,000
Other $30,000
Total manufacturing overhead $190,000
Total manufacturing costs $830,000
Add: Work-in-process inventory, January 1 $120,000
Subtotal $950,000
Deduct: Work-in-process inventory, December 31 $115,000
Cost of goods manufactured $835,000
2.
Alexandria Aluminum Company
Schedule Of Cost Of Goods Sold
For The Year Ended December 31, 2021
Finished-goods inventory, January 1 $150,000
Add: Cost of goods manufactured $835,000
Cost of goods available for sale $935,000
Deduct: Finished-goods inventory, December 31 $165,000
Cost of goods sold $820,000
3.
Alexandria Aluminum Company
Income Statement
For The Year Ended December 31, 2021
Sales revenue 1,105,000
Less: Cost of goods sold 820,000
Gross margin 285,000
Selling and administrative expenses 110,000
Income before taxes 175,000
Income tax expense 70,000
Net income 105,000
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Solution: EXERCISE. 1.47

Number of Muffler Replacements

500 600 700
Total costs:
Fixed costs (A) $42,000 $42,000 (B) $42,000
Variable costs (C) $25,000 $30,000 (D) $35,000
Total costs (E) $67,000 $72,000 (F) $77,000
Cost per muffler replacement:
Fixed cost (G) $84 (H) $70 (1) $60
Variable cost (J) $50 (K) $50 (L) $50
Total cost per muffler replacement (M) $134 (N) $120 (0) $110

Explanatory Notes: s i caad

(a) Total fixed costs do not vary with activity.

(c) Variable cost per replacement = $30,000 -+ 600 = $50

Total variable cost for 500 replacements = $50 x 500 = $25,000
(9) Fixed cost per replacement = $42,000 +500 = $84

(j ) Variable cost per replacement = $25,000 +500 = $50

Solution: EXERCISE. 1.48

5000 10,000 | 15,000 | 30,000
Miles Miles Miles Miles
$ $ $ ©)

Variable costs:
Spares 100 200 300 600
Petrol 380 760 1,140 2,280
Total variable cost 480 960 1,440 2,880
Variable cost per mile 0.096 | 0.096 0.096 | 0.096
Fixed costs
Depreciation® 2,000 | 2,000 | 2,000 | 2,000
Maintenance 120 120 120 120
Vehicle license 80 80 80 80
Insurance 150 150 150 150
Tyres® - - 75 150

2,350 2,350 2,425 2,500
Fixed cost per mile 0.47 0.235 0.162 0.083
Total cost 2,830 3,310 3,865 5,380
Total cost per mile 0.566 0.331 0.258 0.179

Notes

# Annual depreciation = $5,500(cost) - $1,500 (trade-in-price) + 2 years = $2,000

® At 15,000 miles per annum tires will be replaced once during the two year period at a cost of
$150. The average cost per year is $75. At 30,000 miles per annum tires will be replaced once
each year.
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A Jasgia )V 150 dalSsy o) 58 A sasly 3ye b Jlagil A ¢ Al 8 Jia 15,000 Jaxa
cale JS aals 5pe by Jlagiad S ¢ 4l 8 Jie 30,000 Jaees 152 75 daadl

Comments:  <slal)

Tires are a semi-fixed cost. In the above calculations they have been regarded as a step fixed

cost. An alternative approach would be to regard the semi fixed cost as a variable cost by

dividing $150 tire replacement by 25,000 miles. This results in a variable cost per mile of
$0.006.

S Azl Jidy Al A ehaS Wjlie) &5 ¢ odlel 5yl clluall b A0 4l A )
1 ge i . Jue 25,000 e byl Jlaguy s 150 deud Gyl ce 8y 4608 A5 4 263 lge)
V52 0.006 layx Jua IS 5y0nia 485
Depreciation and maintenance cost have been classified as fixed costs. They are likely to be
semi-variable costs, but in the absence of any additional information they have been classified
as fixed costs.
Ala 3 oSy ¢ apie 4l IS sS of Jainal) (e A0l S Ll e Dlually HBaY) (IS Capia o
Al Gl Ll e Lgdian o0 a8 ¢ Adlia) Claglee sl 25m a2e
(ii) See Figure sLal 31 Ll
(iii) The respective costs can be obtained from the vertical dashed lines in the graph (Figure).
(oL JSal) Sl a8 Gl dxdaiall Jaghadld) (pe AaDlall ol e Jseanl) (S (i)
Figure: The step increase in fixed cost is assumed to occur at an annual mileage of 12,500 and
25,000 miles, because tires are assumed to be replaced at this mileage.
¢ J 25,000 512,500 iy gsis Jaal samy Al A8 8 Lpmgyaill 330 Gl o) gty 1 oLl JS)

Y eda die cahUaY) Jladid &y of (i 4y
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5000 — cost per
mile —0.50
(3) Total cost

4000 - 0.40 _
I k)
) | o
m | £
2 3000 — | —0.30 o
] (2) Fixed cost o
= " H
= , Q
=y [
2000 - | : 0.20 <
+—
1 | 2

I |

(1) Total I l L 0.10

1000 — variable | |

cost I |

| I

l |

0 I I I

| |
5000 10000 15000 20000 25000 30000
Annual mileage

(b) The cost per mile declines as activity increases. This is because the majority of costs are
fixed and do not increase when mileage increases. However, total cost will increase with
increases in mileage.

Ol ¢ Gl g JLaYl Bal) die 3% Yy Al Cadlsall dlle oY @lldy Lalaall o) WS mssn Jue JSI A (D)

L) b L ae i Alleay) Aalsl)

Solution: EXERCISE. 1.49

(@) (i) For an explanation of sunk and opportunity costs see Chapter. The down payment of

$5000 represents a sunk cost. The lost profit from subletting the shop of $1,600 p.a. (($550 x

$12) — $5,000) is an example of an opportunity cost. Note that only the $5,000 additional

rental is included in the opportunity cost calculation. (The $5,000 sunk cost is excluded from

the calculation.).

5,000 A& desial) dxdal . Jucadll (el ki) ¢ Al daadll CallSss AR CallSill 2 yi e Jpaall (i) (a)

5 (85,000 — (312 x$550)).$1,600 Gt hldl o Jaall yials (ge wiliall el L Adaaly 4S5 i Y50

Al Qs 4 Las Ve 5,000 MUl Bl ey et O adl LY Abal Aayl A e Jla
(2lead) e 5¥52 5,000 ALl 430 48 sbeiind 23) LALad) doa)ill
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(i) The relevant information for running the shop is:

Net sales $100,000
Costs ($87 000 — $5000 sunk cost) $82,000
$18,000
Less opportunity cost from subletting $1,600
Profit $16,400

The above indicates that $16,400 additional profits will be obtained from using the shop for
the sale of clothing. It is assumed that Mrs. Johnson will not suffer any other loss of income if
she devotes half her time to running the shop.

0o o) ol ol ahadin) (e Y5 16,400 Gy ddbia) L)l e Jseand) 2 adl ) i odlef 5)5 L
el )3 Ly Caal i€ 1) Jaal L oAl st gl 2 (1 Johnson sasdl i (il
(b) The CIMA terminology defines a notional cost as ‘A hypothetical cost taken into account

in a particular situation to represent a benefit enjoyed by an entity in respect of which no
actual expense is incurred.’

Shse il digma Alls 3 SlaeY) 8 Mg Ayl 4 Ll e dpal ) 4630 CIMA llaias Cigey (<)
Ml Aled i 2S5 2 YAl slana) g pos
Examples of notional cost include: L L &l V) aalSil) dlil Jods

(1) Interest on capital to represent the notional cost of using an asset rather than investing the
capital elsewhere.

(i1) Including rent as a cost for premises owned by the company so as to represent the lost rent
income resulting from using the premises for business purposes.

AT Qe b W) el L) (e Yy Jea) alasin il il gl Jlal oy e saslal) (i)
el aladiad ce gl asial Slagy) Jio Jial @llly ASal A ledl hall AICS lay) @l b Ly (i)
Aglas alel
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Solution: EXERCISE. 1.50

(@)
Standard cost sheet (per unit)
Direct materials 40 m” at $5.30 per m* $212
Direct wages:
Bonding dept 48 hours at £12.50 per hour $600
Finishing dept 30 hours at £9.50 per hour $282
$885
(i) Prime cost $1,097
Variable overhead:*
Bonding dept 48 hours at £0.75 per hour $36
Finishing dept 30 hours at £0.50 per hour $15
$51
(ii) Variable production cost $1,148
Fixed production overhead" $40
(iii) Total production cost $1,188
Selling and distribution cost* $20
Administration cost® $10 $30
(iv) Total cost 1,218
Notes

#Variable overhead rates: Bonding = $375,000 + 500,000 hours=$ 0.75
Finishing = $150,000 -+ 300,000 hours = $0,50

® Fixed production overhead rate per unit of output = $392 000 + 9,800 units =$40

The fixed production overhead rate per unit of output has been calculated because there
appears to be only one product produced. Alternatively, a fixed production hourly overhead
rate can be calculated and charged to the product on the basis of the number of hours which
the product spends in each department.

¢y e Yoy anliy L e sl laiie dllin o s 4 U sans JSI 2 D0 4B Cayliaal) Jaee Gl
IS b il Lty ) cleldl sae Gulad e i) o aleats dele JS Z 6D el Jaes Gl (S

b
¢ Selling and production cost per unit of output = $196,000 -+ 9,800 units= $20

Administration cost per unit of output = $98,000 + 9,800 units = $10

(b) Selling price per unit $1218 x (100+ 85) =1,433
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Solution: EXERCISE. 1.51

Carolina Corporation
Schedule of Cost of Goods Manufactured
Year Ended December 31, 2017
(in thousands)

Direct materials cost

Beginning inventory, January 1, 2017 $124,000

Purchases of direct materials $262,000

Cost of direct materials available for use $386,000

Ending inventory, December 31, 2017 $73,000

Direct materials used $313,000
Direct manufacturing labor costs $217,000
Indirect manufacturing costs

Indirect manufacturing labor $97,000

Plant insurance $9,000

Depreciation—plant building & equipment $45,000

Plant utilities $26,000

Repairs and maintenance—plant 12,000

Equipment lease costs 65,000
Total indirect manufacturing costs $254,000
Manufacturing costs incurred during 2017 $784,000
Add beginning work-in-process inventory, January 1,
2017 $173,000
Total manufacturing costs to account for $957,000
Deduct ending work-in-process inventory, December
31,2017 $145,000
Cost of goods manufactured (to Income Statement) $812,000

Peterson Company
Income Statement
Year Ended December 31, 2017
(in thousands)

Revenues $1,300,000
Cost of goods sold:

Beginning finished goods, January 1, 2017 $ $240,000

Cost of goods manufactured $812,000 <€

Cost of goods available for sale $1,052,000

Ending finished goods, December 31, 2017 $206,000
Cost of goods sold $846,000
Gross margin $454,000
Operating costs:
Marketing, distribution, and customer-service costs $125,000
General and administrative costs $71,000
Total operating costs $196,000
Operating income $258,000
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Solution: EXERCISE. 1.52

Howell Corporation
Income Statement
for the Year Ended December 31, 2017 (in millions)

Revenues $950
Cost of goods sold

Beginning finished goods, Jan. 1, 2017 $70

Cost of goods manufactured (below) $645

Cost of goods available for sale $715

Ending finished goods, Dec. 31, 2017 $55 $660
Gross margin $290
Marketing, distribution, and customer-service costs $240
Operating income $50

Howell Corporation
Schedule of Cost of Goods Manufactured
for the Year Ended December 31, 2017 (in millions)

Direct materials costs:

Beginning inventory, Jan. 1, 2017 $15

Purchases of direct materials $325

Cost of direct materials available for use $340

Ending inventory, Dec. 31, 2017 $20

Direct materials used $320
Direct manufacturing labor costs $100
Indirect manufacturing costs:

Indirect manufacturing labor $60

Plant supplies used $10

Plant utilities $30
Depreciation—plant and equipment $80

Plant supervisory salaries $5

Miscellaneous plant overhead $35 $220
Manufacturing costs incurred during 2017 $640
Add beginning work-in-process inventory, Jan. 1, 2017 $10
Total manufacturing costs to account for $650
Deduct ending work-in-process, Dec. 31, 2017 $5
Cost of goods manufactured $645
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Problems:

:J)W J.d/ Jﬁv

Solution: Problem. 1.1

a.
Product Costs
Direct Direct | Manufacturing | Period
Cost Item Materials Labor Overhead Costs
Rent on factory equipment $11,000
Insurance on factory building $1,500
Raw materials $75,000
Utility costs for factory $900
Supplies for general office $300
Wages for assembly line workers $58,000
Depreciation on office equipment $800
Miscellaneous materials $1,100
Factory manager’s salary $5,700
Property taxes on factory building $400
Advertising for helmets $14,000
Sales commissions $10,000
Depreciation on factory building $1,500
$75,000 | $58,000 $22,100 $25,100

b. Total production costs:

Direct materials $75,000
Direct labor $58,000
Manufacturing overhead $22,100
Total production cost $155,100

Production cost per helmet = $155,100/10,000 = $15.51.
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Solution: Problem. 1.2

a.
Product Costs
Direct Direct | Manufacturing | Period
Cost Item Materials | Labor Overhead Costs
Raw materials (1) $111,000
Wages for workers (2) $90,000
Rent on equipment $4,900
Indirect materials (3) $7,500
Factory supervisor’s salary $3,000
Janitorial costs Al all Callss $1,300
Advertising $9,500
Depreciation on factory building (4) $650
Property taxes on factory building (5) $750
$111,000 | $90,000 $18,100 $9,500

b. Total production costs:

Direct materials $111,000
Direct labor $90,000
Manufacturing overhead $22,100
Total production cost $219,100

Production cost per system= $219,100 +1,500 = $146.07.

Solution: Problem. 1.3

(@) Case 1
A =$9,600 + $5,000 + $8,000 = $22,600

$22,600 + $1,000 — B = $17,000
B = $22,600 + $1,000 — $17,000 = $6,600

$17,000 + C = $22,000
C =$22,000 — $17,000 = $5,000

D =$22,000 — $3,400 = $18,600

E = ($24,500 — $2,500) — $18,600 = $3,400
F = $3,400 — $2,500 = $900

Case 2

G + $8,000 + $4,000 = $16,000

G = $16,000 — $8,000 — $4,000 = $4,000

$16,000 + H — $3,000 = $24,000
H = $24,000 + $3,000 — $16,000 = $11,000

(1-$1,400) — K = $7,000
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(I - $1,400) — $24,800 = $7,000
| = $1,400 + $24,800 + $7,000 = $33,200

(Note: Item I can only be solved after item K is solved.)
J =$24,000 + $3,300 = $27,300
K = $27,300 — $2,500 = $24,800

$7,000 - L = $5,000

L =$2,000
b.
CASE 1
Cost of Goods Manufactured Schedule
Work in process, beginning $1,000
Direct materials $9,600
Direct labor $5,000
Manufacturing overhead $8,000
Total manufacturing costs $22,000
Total cost of work in process $23,600
Less: Work in process, ending $6,600
Cost of goods manufactured $17,000
C.
CASE 1
Income Statement
Sales revenue $24,500
Less: Sales discounts $2,500
Net sales $22,000
Cost of goods sold
Finished goods inventory, beginning $5,000
Cost of goods manufactured $17,000
Cost of goods available for sale $22,000
Less: Finished goods inventory, ending $3,400
Cost of goods sold $18,600
Gross profit $3,400
Operating expenses $2,500
Net income $900
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CASE 1

(Partial) Balance Sheet

Current assets

Cash $3,000
Receivables (net) $15,000
Inventories
Finished goods $3,400
Work in process $6,600
Raw materials $600 $10,600
Prepaid expenses $400
Total current assets $29,000
Solution: Problem. 1.4
a.
CLARKSON COMPANY
Cost of Goods Manufactured Schedule
For the Year Ended June 30, 2020
Work in process, July 1, 2019 $19,800
Direct materials
Raw materials inventory, July 1, 2019 $48,000
Raw materials purchases $96,400
Total raw materials available for use $144,400
Less: Raw materials inventory: June 30, 2020 $39,600
Direct materials used $104,800
Direct labor $139,250
Manufacturing overhead
Plant manager’s salary $58,000
Factory utilities $27,600
Indirect labor $24,460
Factory machinery depreciation $16,000
Factory property taxes $9,600
Factory insurance $4,600
Factory repairs $1,400
Total manufacturing overhead $141,660
Total manufacturing costs $385,710
Total cost of work in process $405,510
Less: Work in process, June 30, 2020 $18,600
Cost of goods manufactured $386,910
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b.
CLARKSON COMPANY
(Partial) Income Statement
For the Year Ended June 30, 2020
Sales revenues
Sales revenue $534,000
Less: Sales discounts $4,200
Net sales $529,800
Cost of goods sold
Finished goods inventory« July 1, 2019 $96,000
Cost of goods manufactured $386,910
Cost of goods available for sale $482,910
Less: Finished goods inventory« June 30, 2020 $75,900
Cost of goods sold $407,010
Gross profit $122,790
C.

CLARKSON COMPANY
(Partial) Balance Sheet
June 30, 2020

Current assets
Cash $32,000
Accounts receivable $27,000
Inventories

Finished goods $75,900

Work in process $18,600

Raw materials $39,600 $134,100
Total current assets $193,100
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Solution: Problem. 1.5
a.

EMPIRE COMPANY
Cost of Goods Manufactured Schedule
For the Month Ended October 31, 2020

Work in process, October 1

$20,000

Direct materials

Raw materials inventory« October 1

$18,000

Raw materials purchases

$264,000

Total raw materials available for use

$282,000

Less: Raw materials inventory« October 31

$29,000

Direct materials used

$253,000

Direct labor

$190,000

Manufacturing overhead

Factory facility rent

$60,000

Depreciation on factory equipment

$31,000

Indirect labor

$28,000

Factory utilities*

$9,000

Factory insurance**

$4,800

Total manufacturing overhead

$132,800

Total manufacturing costs

$575,800

Total cost of work in process

$595,800

Less: Work in process, October 31

$14,000

Cost of goods manufactured

$581,800

**$12,000 x 75% = $9,000
**$ 8,000 x 60% = $4,800
b.

EMPIRE COMPANY
Income Statement
For the Month Ended October 31, 2020

Sales revenues

$780,000

Cost of goods sold

Finished goods inventory, October 1

$30,000

Cost of goods manufactured

$581,800

Cost of goods available for sale

$611,800

Less: Finished goods inventory« October 31

$50,000

Cost of goods sold

$561,800

Gross profit

$218,200

Operating expenses:

Advertising expense

$90,000

Selling and administrative salaries

$75,000

Depreciation expense—sales equipment

$45,000

Insurance expense**

$3,200

Utilities expense*

$3,000

Total operating expenses

$216,200

Net income

$2,000
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**$12,000 x 25%
**$ 8,000 x 40%

Solution: Problem. 1.6

1. Variable cost per tonne of beach sand mined:

Subcontractor = 8 J st $80
Government tax 4 sSa 4y pa $50
Total $130

Fixed costs per month:
0-100 tonnes of capacity per day = $150 000
101-200 tonnes of capacity per day = $300 000
201-300 tonnes of capacity per day = $450 000

2.
e N
975000 [~ 450000 -
‘g) -2
(i) - -
% 650000 b 300000
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2 ™
£ 325000 2 150000
-
1 1 | I I J
2500 5000 7500 100 200 300
Tonnes mined Tonnes of capacity per day
_ CLBYL Gl ags JU GURYL 4stall )

The concept of relevant range is potentially relevant for both graphs. However, the question
does not place restrictions on the unit variable costs. The relevant ranges for the total fixed
costs are from 0_to_100 tonnes; from 101 to 200 tonnes; from 201 to 300 tonnes, and so on.
Within these ranges, the fixed costs do not change in total.

o 1358 ¥ sl Gl ¢ b way bl ran )l ST Ll 2D saall aseie (15 o Jainall (ge
200 ) 101 g ¢ o 100_ ) 0 oo dfleay) 40 Gl Ll clnall 5] sas 5l 5yiall Callsl
Hlea) Gl sl Y ¢ cbad) o3 Crada 1385 ¢ b 300 ) 201 e ¢ b

3.
Tonnes Tonnes Fixed unit Variable unit Total unit
minedper day | minedper month cost per tonne cost per tonne | cost per tonne
) (2)=(1) x 25 (3)=FC+(2) 4) G)=0Q)+®
a.180 4,500 $300,000 +4,500 $130 $196.67
=$66.67
b.220 5,500 $450,000+ 5,500 $130 $211.82
= $81.82
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The unit cost for 220 tonnes mined per day is $211.82, while for 180 tonnes it is only
$196.67. This difference is caused by the fixed cost increment from 101 to 200 tonnes being
spread over an increment of 80 tonnes, while the fixed cost increment from 201 to 300 tonnes
is spread only over an increment of 20 tonnes.

180 Jstia 1¥52 196.67 & Laiss ¢ 1350 211.82 Luasy lealaind 2y il s 220 4alll) sas gl 44lS5 4l
s Ly ¢ Uil 80 Wysd sl e dejse b 200 ) 101 (e A0 4830 5alyy ) CDUAY) 1a gay Lk
ik 20 Wy saly e i (12 300 Y 201 ¢ Al 483l 5005 58

Solution: Problem. 1.7

1.
Jordan Company
Statement of Costs of Goods Manufactured
For the Year Ended December 31
Direct materials:
Beginning inventory $380,000
Add: Purchases $1,675,000
Materials available $2,055,000
Less: Ending inventory $(327,000)
Direct materials used $1,728,000
Direct labor $2,000,000
Manufacturing overhead:
Insurance on factory $200,000
Indirect labor $790,000
Depreciation, factory building $1,100,000
Depreciation, factory equipment $630,000
Property taxes on factory $65,000
Utilities, factory $150,000 | $2,935,000
Total manufacturing costs added $6,663,000
Add: Beginning work in process $450,000
Less: Ending work in process $(750,000)
Cost of goods manufactured $6,363,000

2. Unit cost = $6,363,000/150,000 = $42.42

93 isaall

SRS UV SR SN AV 3o — NS




Il Jmsll J2lsag (syslasy dlial Ja — Jo¥l galall
lasanlszly dyslually ca Il dgulaa gqaliag sylalhma

3.
Jordan Company
Income Statement: Absorption Costing
For the Year Ended December 31
Sales (141,000* x $50) $7,050,000
Cost of goods sold:
Cost of goods manufactured $6,363,000
Add: Beginning finished goods inventory $107,500
Goods available for sale $6,470,500
Less: Ending finished goods inventory $489,000 | $5,981,500
Gross margin $1,068,500
Less:
Research and development $120,000
Salary, sales supervisor $85,000
Commissions, salespersons $370,000
Administrative expenses $390,000 $965,000
Income before taxes $103,500
*2,500 + 150,000 — 11,500 = 141,000 units sold.
Solution: Problem. 1.8
Solution: Problem. 1.9
a.
Debit $ Credit $
Work in Process Inventory 800,000
Raw Material Inventory 800,000
To issue direct material to production
Work in Process Inventory 720,000
Cash (40,000 x $18) 720,000
To pay direct labor payroll
Manufacturing Overhead Control 232,500
Wages Payable (15,500 x $15) 232,500
To accrue indirect labor costs
Manufacturing Overhead Control 102,100
Accumulated Depreciation 102,100
To depreciate factory assets
Manufacturing Overhead Control 32,800
Salaries Payable 32,800
To accrue supervisors’ salaries
Manufacturing Overhead Control 25,400
Supplies Inventory 25,400
To issue indirect material to production
Finished Goods Inventory 1,749,300
Work in Process Inventory 1,749,300
To transfer completed work to FG
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b.
Beginning balance of WIP $18,900
Direct material $800,000
Direct labor $720,000
Manufacturing overhead for January (plug) $270,000
Cost to account for $1,808,900
Goods completed $(1,749,300)
Ending balance of WIP $59,600

Solution: Problem. 1.10
a. If GP rate is 35% of sales, then CGS is 65% of sales.
CGS =0.65 x $2,862,000 = $1,860,300

b.
Direct material used $894,000
Direct labor $645,000
Overhead:
Indirect labor $186,000
Factory insurance $6,000
Factory utilities $42,900
Factory depreciation $65,100
Factory rent $252,000 $552,000
Total costs to account for $2,091,000
Ending WIP Inventory $(31,500)
Cost of goods manufactured $2,059,500

c. Ending FG Inventory = Beginning FG Inventory + CGM — CGS
= $0 + $2,059,500 — $1,860,300 = $199,200

d. GP =0.35 x $2,862,000 = $1,001,700
S & A expenses = Gross profit — Net income
= $1,001,700 — $250,000 = $751,700
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Debit $

Credit $

Raw Material Inventory
Accounts Payable
To purchase direct material on account

1,110,000

1,110,000

Work in Process Inventory
Raw Material Inventory
To issue direct material to production

894,000

894,000

Work in Process Inventory
Wages Payable
To accrue direct labor payroll

645,000

645,000

Manufacturing Overhead Control
Wages Payable
To accrue indirect payroll

186,000

186,000

Manufacturing Overhead Control

Prepaid Insurance
To record expiration of prepaid insurance on
factory

6,000

6,000

Manufacturing Overhead Control
Cash
To pay factory utilities

42,900

42,900

Manufacturing Overhead Control
Accumulated Depreciation
To record depreciation on factory equipment

65,100

65,100

Manufacturing Overhead Control
Cash
To pay factory rent

252,000

252,000

Work in Process Inventory
Manufacturing Overhead Control
To assign actual overhead to WIP (see part b)

552,000

552,000

10.

Finished Goods Inventory
Work in Process Inventory
To transfer completed good to FG (see part b)

2,059,500

2,059,500

11.

S & A Expenses
Accounts Payable (or Cash)
To record S&A expense (see part )

751,700

751,700

12.

Cost of Goods Sold
Finished Goods Inventory
To record cost of goods sold (see part a)

1,860,300

1,860,300

13.

Accounts Receivable
Sales
To record sales on account

2,862,000

2,862,000
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Solution: Problem. 1.11

a. Number of units sold = $648,000 + $24 = 27,000
Number of units completed = Units in FG Inventory + Units Sold
= 3,000 + 27,000 = 30,000

b.
Direct material used $186,000
Direct labor $134,000
Overhead:
Factory rent $3,600
Factory utilities $16,200
Factory depreciation $15,800
Supervisor salary $6,400 42,000
Total costs to account for $362,000
Ending WIP Inventory $(35,000)
Cost of goods manufactured $327,000

c. $327,000 + 30,000 = $10.90 per unit

d.

Debit $ Credit $
1. | Raw Material Inventory 248,000
Accounts Payable 248,000

To purchase direct material on account
2. | Work in Process Inventory 186,000
Raw Material Inventory 186,000

To issue direct material to production
3. | Work in Process Inventory 134,000
Wages Payable 134,000

To accrue direct labor payroll
4. | Manufacturing Overhead Control 3,600
Cash 3,600

To pay factory rent
5. | Manufacturing Overhead Control 16,200
Utilities Payable 16,200

To accrue factory utilities
6. | Manufacturing Overhead Control 15,800
Accumulated Depreciation 15,800

To record depreciation on factory equipment
7. | Manufacturing Overhead Control 6,400
Cash 6,400

To pay supervisor’s salary
8. | Work in Process Inventory 42,000
Manufacturing Overhead Control 42,000

To assign actual overhead to WIP (see part b)
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9. | Finished Goods Inventory 327,000
Work in Process Inventory 327,000

To transfer completed good to FG (see part b)
10. | Cost of Goods Sold 294,300
Finished Goods Inventory 294,300

To record cost of goods sold ($10.90 x 27,000)
11. | Accounts Receivable 648,000
Sales 648,000

To record sales on account ($24 x 27,000)

Solution: Problem. 1.12

Case 1 (S) Case 2 (S) Case 3 (S)
Sales 9,300 19,700° 112,000
Direct material used 1,200 6,100" 18,200
Direct labor 2,500° 4,900 32,100™
Prime cost 3,700 11,000' 50,300"
Conversion cost 4,800 8,200 49,300
Manufacturing overhead 2,300° 3,300/ 17,200
Cost of goods manufactured 6,200 14,000 68,900°
Beginning work in process inventory 500 900 5,600
Ending work in process inventory 300° 1,200 4,200
Beginning finished goods inventory 800° 1,900 7,600
Ending finished goods inventory 1,200 3,700% 4,300°
Cost of goods sold 5,800° 12,200 72,200
Gross profit 3,500 7,500’ 39,800
Operating expenses 1,300 3,500 18,000
Net income 2,200 4,000 21,800"

% Prime cost = DM + DL

$3,700 = $1,200 + X; X = $2,500

® Conversion cost = DL + OH

$4,800 = $2,500 + X; X = $2,300

‘Beg. WIP + DM + DL + OH — CGM = End. WIP

$500 + $1,200 + $2,500 + $2,300 — $6,200 = X; X = $300
® Sales — Gross profit = CGS

$9,300 - $3,500 = X; X = $5,800

9 Beg. FG + CGM — End. FG = CGS

$X + $6,200 — $1,200 = $5,800; X = $800

"Gross profit — Operating expenses = NI

$3,500 — X = $2,200; X = $1,300

9Sales — CGS — Operating expenses = NI

X —$12,200 — $3,500 = $4,000; X = $19,700

"CGM = Beg. WIP + DM + DL + OH — End. WIP
$14,000 = $900 + X + $4,900 + $3,300 — $1,200; X = $6,100
'Prime cost = DM + DL

X =$6,100 + $4,900; X = $11,000
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Y Conversion cost = DL + OH

$8,200 = $4,900 + X; X = $3,300

“Beg. FG + CGM — End. FG = CGS

$1,900 + $14,000 — $X = $12,200; X = $3,700
'Sales — CGS = Gross profit

$19,700 — $12,200 = X; X = $7,500

™ Conversion cost = DL + OH

$49,300 = X + $17,200; X = $32,100

" Prime cost = DM + DL

X =$32,100 + $18,200; X = $50,300

°CGM = Beg. WIP + DM + DL + OH — End. WIP
X =$5,600 + $32,100 + $18,200 + $17,200 — $4,200; X = $68,900
PBeg. FG + CGM - End. FG = CGS

$7,600 + $68,900 — X = $72,200; X = $4,300

9 Sales — CGS = Gross profit

$112,000 — $72,200 = X; X = $39,800

" Gross profit — Operating expenses = NI

$39,800 — $18,000 = X; X = $21,800

Solution: Problem. 1.13

a.
Beginning inventory Direct materials $12,300
Direct materials purchased $196,300
Materials available for use $208,600
Ending inventory Direct materials X
Direct materials used $195,800
X=$208,600 - $195,800, X =$12,800
b.
Direct materials used $195,000
Direct labor $182,400
Factory overhead $205,700
Total product costs $583,900
C.
Petersham Company
Schedule of Cost of Goods Manufactured
For Month Ended August 31, 2020
Beginning WIP Inventory $25,000
Direct material used $195,800
Direct labor $182,400
Overhead $205,700
Total costs to account for $606,800
Ending WIP Inventory $(33,300)
Cost of goods manufactured $576,500
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Petersham Company
Cost of Goods Sold Schedule
For the Month Ended August 31, 2020

Beginning FG Inventory $62,700

Cost of goods manufactured $576,500
Goods available for sale $639,200
Ending FG Inventory $(55,500)
Cost of goods sold $583,700

Petersham Company
Income Statement
For the Month Ended August 31, 2020

Sales $985,000
Cost of goods sold $(583,700)
Gross profit $401,300
Selling and administrative expenses $(171,200)
Income before income taxes $230,100
Income tax expense ($230,100 x .4) $(92,040)
Net income $138,060

Solution: Problem. 1.14
a. $1,040,000 + $5,200 = 200 units sold

b.
Flex-Em
Schedule of Cost of Goods Manufactured
For Month Ended July 31, 2010

Beginning WIP Inventory $0
Direct material used $377,000
Direct labor $126,800
Overhead:

Indirect labor $40,600

Insurance $6,000

Utilities $17,800

Depreciation $230,300 $294,700 $798,500
Total manufacturing costs $798,500
Ending WIP Inventory $(51,000)
Cost of goods manufactured $747,500

c. $747,500 + 230 units = $3,250
d. Units completed = units sold + units in ending FG inventory
=200 + ($97,500 + $3,250)
=200 + 30 = 230 units completed
e. 200 x $3,250 = $650,000
f. Sales— CGS = GM
$1,040,000 — $650,000 = $390,000
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Solution: Problem. 1.15
Raw Material Inventory

BB 72,000 | Issued direct and
Purch(#1) 570,000 | indirect materials (#2) 136,200
End Bal 505,800
Work in Process Inventory

BB 108,000 | CGM 532,140
(2#DM 121,200
(2#IM 15,000
(3#DL 180,000
(3#IL 42,000
(5#Util. 28,140
(6#Depr. 48,000
(7# Rent 39,600
End Bal 49,800

Total product cost = Cost of goods manufactured = $532,140

Period costs for August (all on income statement):

Office salaries expense (#4) $144,600
Utilities expense (#5) $12,060
Depreciation expense (#6) $12,000
Rent expense (#7) $26,400
Total period cost $195,060

Solution: Problem. 1.16
a. Cost of goods sold for the first 18 days of June:
$460,000 x (1 — 0.40) = $276,000

Cost of goods sold for the first 18 days of June:

Beginning FG Inventory $58,000
Cost of goods manufactured $303,000**
Goods available for sale $361,000*
Ending FG Inventory $(85,000)
Cost of goods sold $276,000

*CGA = $276,000 + $85,000 = $361,000
**CGM = $361,000 — $58,000 = $303,000
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Cost of goods manufactured for the first 18 days of June:

Beginning WIP Inventory $96,000
DM $152,000
DL $88,000
OH $84,000
Total cost to account for $420,000
Ending WIP Inventory $(117,000)***
Cost of goods manufactured $303,000

***Ending WIP Inventory = $420,000 — $303,000 = $117,000

b. The insurance company would want to substantiate the quantity and cost of the inventory.
The company would require nonfinancial records including labor, material, and production.
The insurance company might also require some verification of the market value (current
value or replacement value) of the inventory. Further, it might require the company to
substantiate the number of units in the WIP inventory and the average percentage of
completion. The market value data could be obtained from industry publications and the unit
data might be obtained from production records or internal receiving and shipping documents.
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Solution: Problem. 1.17

1.
Merchandise inventory, April 1 $38,000
Plus purchases $121,000
Merchandise available for sale $159,000
Less merchandise inventory, April 30 $33,000
Cost of goods sold $126,000
2.
Finished goods, April 1 $67,000
Plus cost of goods manufactured $287,000
Finished goods available for sale $354,000
Less finished goods, April 30 $61,000
Cost of goods sold $293,000
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Solution: Problem. 1.18

1.
Indy Furniture Company

Statement of Cost of Goods Manufactured

For the Month Ended November 30, 2021
Direct materials:
Inventory, November 1 $0
Purchases $33,000
Total cost of available materials $33,000
Less inventory, November 30 $7,400
Cost of materials used $25,600
Less indirect materials used $1,400
Cost of direct materials used in production $24,200
Direct labor $18,500
Factory overhead:
Indirect materials $1,400
Indirect labor $4,300
Depreciation of building $3,000
Depreciation of machinery and equipment $2,200
Utilities $2,750
Total factory overhead $13,650
Cost of goods manufactured during the month $56,350

2.
Indy Furniture Company
Income Statement

For the Month Ended November 30, 2021
Sales $68,300
Cost of goods sold:
Finished goods inventory, November 1 $0
Add cost of goods manufactured $56,350
Goods available for sale $56,350
Less finished goods inventory, November 30 $13,900 $42,450
Gross profit on sales $25,850
Selling and administrative expenses $15,200
Net income $10,650
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3.
Indy Furniture Company
Balance Sheet
November 30, 2021
Assets

Current assets:
Cash $21,800
Accounts receivable $16,200
Inventories:
Finished goods $13,900
Work in process $0
Materials $7,400 $21,300
Total current assets $59,300
Plant and equipment:
Building $300,000

Less accumulated depreciation $3,000 $297,000
Machinery and equipment $88,000

Less accumulated depreciation $2,200 $85,800
Total plant and equipment $382,800
Total assets $442,100

Liabilities and Stockholders’ Equity

Current liabilities:
Accounts payable $8,900
Stockholders’ equity:
Capital stock $422,550
Retained earnings $10,650
Total stockholders’ equity $433,200
Total liabilities and stockholders’ equity $442,100
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Solution: Problem. 1.19

1.
Debit ($) | Credit($)
a. | Materials 58,000
Accounts Payable 58,000
b. | Work in Process 47,000
Factory Overhead (Indirect Materials) 15,000
Materials 62,000
c. | Payroll 48,000
Wages Payable 48,000
Wages Payable 48,000
Cash 48,000
Work in Process 29,000
Factory Overhead (Indirect Labor) 12,000
Selling and Administrative Expenses (Salaries) 7,000
Payroll 48,000
d. | Factory Overhead (Depreciation of Building) 1,600
Factory Overhead (Depreciation of Factory 1,833
Equipment)
Selling and Administrative Expenses 400
(Depreciation of Building)
Selling and Administrative Expenses 1,000
(Depreciation of Office Equipment)
Accumulated Depreciation—Building 2,000
Accumulated Depreciation—Factory 1,833
Equipment
Accumulated Depreciation—Office 1,000
Equipment
Factory Overhead (Miscellaneous) 8,250
Selling and Administrative 2,750
Expenses(Miscellaneous)
Accounts Payable 11,000
f. | Work in Process 38,683
Factory Overhead 38,683
g. | Finished Goods 91,000
Work in Process 91,000
h. | Accounts Receivable 362,000
Sales 362,000
Cost of Goods Sold 188,000
Finished Goods 188,000
i | Cash 345,000
Accounts Receivable 345,000
J. | Accounts Payable 158,000
Cash 158,000
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Cash Accounts Receivable
4/30 25,000 | (c) 48,000 4/30 65,000 | (i) 345,000
0) 345,000 | (j) 158,000 (1) 362,000
370,000 206,000 427,000
Bal 164,000 Bal 82,000
Finished Goods Work in Process
4/30 120,000 | (h) 188,000 4/30 35,000 | (9) 91,000
(), 91,000 (b) 47,000
211,000 (©) 29,000
() 38,683
Bal 23,000
Bal 58,683
Materials Building
4/30 18,000 | (b) 62,000 4/30 480,000
(@) 58,000
76,000 Bal 480,000
Bal 14,000
Accumulated Factory Equipment
Depreciation—Building 4/30 220,000
4/30 72,000
(d) 2,000 Bal 220,000
Bal 74,000
Accumulated Office Equipment
Depreciation— Factory Equipment 4/30 60,000
4/30 66,000
(d) 1,833 Bal 60,000
Bal 67,833
Accumulated Accounts Payable
Depreciation— Office Equipment () 158,000 | 4/30 95,000
4/30 36,000 (@) 58,000
(d) 1,000 (e) 11,000
164,000
Bal 37,000 Bal 6,000
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Payroll Wages Payable
(c) 48,000 (c) 48,000 (c) 48,000 | (c) 48,000
Retained Earnings
Capital Stock 4/30 504,000
4/30
250,000
Sales Cost of Goods Sold
(h) 362,000 (h) 188,000
Factory Overhead Selling and Administrative Expenses
(b) 15,000 )] 38,683 (c) 7,000
(© 12,000 (d) 400
(d) 1,600 (d) 1,000
(d) 1,833 ©) 2,750
(e) 8,250
Bal 11,150
Bal 38,683
3.
Beamer Manufacturing Co.
Statement of Cost of Goods Manufactured
For the Month Ended May 31, 2021
Materials:
Inventory, May 1 $18,000
Purchases $58,000
Total cost of available materials $76,000
Less inventory, May 31 $14,000
Cost of materials used $62,000
Less indirect materials used $15,000
Cost of direct materials used in production $47,000
Direct labor $29,000
Factory overhead:
Indirect materials $15,000
Indirect labor $12,000
Depreciation of building $1,600
Depreciation of factory equipment $1,833
Miscellaneous expenses $8,250
Total factory overhead $38,683
Total manufacturing cost $114,683
Add work in process inventory, May 1 $35,000
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$149,683
Less work in process inventory, May 31 $58,683
Cost of goods manufactured $91,000
Beamer Manufacturing Co.
Income Statement
For the Month Ended May 31, 2021

Sales $362,000
Cost of goods sold:

Finished goods inventory, May 1 $120,000
Add cost of goods manufactured $91,000

Goods available for sale $211,000

Less finished goods inventory, May 31 $23,000 $188,000
Gross profit on sales $174,000
Selling and administrative expenses $11,150
Net income $162,850

Beamer Manufacturing Co.
Balance Sheet
May 31, 2021
Assets

Current assets:

Cash $164,000
Accounts receivable $82,000
Inventories:

Finished goods $23,000

Work in process $58,683

Materials $14,000 $95,683
Total current assets $341,683
Plant and equipment:

Building $480,000

Less accumulated depreciation $74,000 $406,000

Factory equipment $220,000

Less accumulated depreciation $67,833 $152,167

Office equipment $60,000

Less accumulated depreciation $37,000 $23,000

Total plant and equipment $581,167
Total assets $922,850

Liabilities and Stockholders’ Equity

Current liabilities:

Accounts payable $6,000
Stockholders’ equity:

Capital stock $250,000
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Retained earnings* $666,850
Total stockholders’ equity $916,850
Total liabilities and stockholders’ equity $922,850

*$504,000 (bal. on 4/30) + $162,850 (Net income for May) = $666,850

Solution: Problem. 1.20

Fayetteville Manufacturing Co.
Statement of Cost of Goods Manufactured
For the Year Ended December 31, 2021

Direct materials used $370,000°

Direct labor $360,000°

Factory overhead $270,000°

Total manufacturing cost $1,00,000

Add work in process inventory, January 1 $20,000°
$1,020,000

Less work in process inventory, December 31 $50,000°

Cost of goods manufactured $970,000

Supporting Computations:
% Factory overhead: 27% x total manufacturing cost (27% x $1,000,000) = $270,000
® Direct labor: 75% of direct labor equals $270,000, so direct labor was $360,000
($270,000 + 75%)
¢ Direct materials used equals total manufacturing cost less direct labor and factory
overhead [$1,000,000 - ($360,000 + $270,000)]
9 Work in process inventories:
Let X = ending work in process inventory
$1,000,000 + 0.4 X - X = $970,000

X = $50,000

0.4X = $20,000

109 daial NP PRI R SAL Y PR P



Il Jmsll J2lsag (syslasy dlial Ja — Jo¥l galall
lasanlszly dyslually ca Il dgulaa gqaliag sylalhma

Solution: Problem. 1.21

1.
Cornelius Company
Statement of Cost of Goods Manufactured
for the Year Ended December 31
Direct Materials:
Beginning Materials Inventory $25,000
Materials Purchases $555,000
Materials Available $580,000
Ending Materials Inventory $40,000
Materials Used $540,000
Direct Labor-Wages $300,000
Factory Overhead:
Factory Rent $380,000
Utilities for Factory $38,000
Indirect Materials $66,000
Indirect Labor $60,000
Total Factory Overhead $544,000
Total Manufacturing Costs $1,384,000
Beginning Work-in-Process Inventory $45,000
Total Manufacturing Costs $1,429,000
Ending Work-in-Process Inventory $40,000
Cost of Goods Manufactured $1,389,000
2. Calculate cost of goods sold.
Beginning Finished Goods Inventory $ 135,000
Plus: Cost of goods manufactured $1,389,000
Less: Ending Finished Goods Inventory $75,000
Cost of goods sold $1,449,000
Solution: Problem. 1.22
Babor Company
Statement of Cost of Goods Manufactured
For the Year Ended December 31
Direct Materials
Beginning Materials Inventory $23,000
Materials Purchases $165,000
Materials Available $188,000
Ending Materials Inventory $55,000
Direct Materials Used $133,000
Direct Labor--Wages $114,000
Factory Overhead
Repairs and Maintenance $11,000
Factory insurance $8,000
Depreciation Expense--Plant $33,000
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Indirect Labor--Wages $45,000
Total Factory Overhead $97,000
Total Manufacturing Costs $344,000
Beginning Work-in-Process Inventory $13,000
Total Manufacturing Costs to Account for $357,000
Ending Work-in-Process Inventor $16,000
Cost of Goods Manufactured $341,000
Babor Company
Income Statement
For the Year Ended December 31
Sales Revenue $625,000
Cost of Goods Sold:
Beginning Finished Goods Inventory $17,000
Cost of Goods Manufactured $341,000
Cost of Goods Available for Sale $358,000
Ending Finished Goods Inventory $24,000
Cost of Goods Sold $334,000
Gross Margin $291,000
Marketing Expenses $144,000
General and Administrative $86,000
Total Selling & Administrative Expenses $230,000
Operating Income $61,000
Solution: Problem. 1.23
Huntersville, Inc.
Statement of Cost of Goods Manufactured
For the Year Ended December 31
Direct Materials
Beginning Materials Inventory $19,000
Materials Purchases $155,000
Materials Available $174,000
Ending Materials Inventory $26,000
Direct Materials Used $148,000
Direct Labor-Wages $487,000
Factory Overhead
Depreciation Expense--Plant & Equip. $86,000
Heat, light, & power--Plant $44,000
Indirect Labor--Wages $25,000
Property taxes--Plant $34,000
Supervisor's Salary Plant $66,000
Supplies--Plant $29,000
Total Factory Overhead $284,000
Total Manufacturing Costs $919,000
Beginning Work-in-Process Inventory $23,000
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Total Manufacturing Costs $942,000
Ending Work-in-Process Inventory $9,000
Cost of Goods Manufactured $933,000
Huntersville, Inc.
Income Statement
For the Year Ended December 31
Sales Revenue $1,495,000
Cost of Goods Sold:
Beginning Finished Goods Inventory $15,000
Cost of Goods Manufactured $933,000
Cost of Goods Available for Sale $948,000
Ending Finished Goods Inventory $38,000
Cost of Goods Sold $910,000
Gross Margin $585,000
Sales Representatives' Salaries $145,000
Supplies--Administrative Office $16,000
Depreciation Expense--Admin. Office $32,000
Total Selling & Administrative $193,000
Operating Income $392,000
Solution: Problem. 1.24
Fair Wind Yachts
Statement of Cost of Goods Manufactured
For the Year Ended December 31
Direct Materials
Beginning Materials Inventory $16,000
Materials Purchases $410,000
Materials Available $426,000
Ending Materials Inventory $18,000
Direct Materials Used $408,000
Direct Labor-Wages $512,000
Factory Overhead:
Insurance on Plant $32,000
Supplies--Plant $132,000
Repairs on Plant Building $36,000
Depreciation Expense--Plant and Equip. $320,000
Heat and Light for Plant $22,000
Indirect Labor $269,000
Supervisor's Salary Plant $98,000
Total Factory Overhead $909,000
Total Manufacturing Costs to Account for $1,829,000
Beginning Work-in-Process Inventory $31,000
Total Manufacturing Costs $1,860,000
Ending Work-in-Process Inventory $39,000
Cost of Goods Manufactured $1,821,000
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Fair Wind Yachts
Income Statement
For the Year Ended December 31
Sales Revenue $2,885,000
Cost of Goods Sold:
Beginning Finished Goods Inventory $55,000
Cost of Goods Manufactured $1,821,000
Cost of Goods Available for Sale $1,876,000
Ending Finished Goods Inventory $43,000
Cost of Goods Sold $1,833,000
Gross Margin $1,052,000
Advertising Expenses $150,000
Sales Representatives' Salaries $325,000
Supplies--Administrative Office $78,000
Depreciation Expense--Admin. Office $75,000
Depreciation Expense - Delivery Trucks $45,000
Total Selling & Administrative Expenses $673,000
Operating Income $379,000
Solution: Problem. 1.25
Norton Industries
Statement of Cost of Goods Manufactured
For the Month Ended May 31
($000) omitted
Direct Materials
Beginning Materials Inventory $28
Materials Purchases $510
Freight-in $15
Materials Available $553
Ending Materials Inventory $23
Direct Materials Used $530
Direct Labor-Wages $260
Factory Overhead:
Indirect factory labor $90
Utilities $108
Property taxes-Plant $60
Insurance $12
Depreciation $50
Total Factory Overhead $320
Total Manufacturing Costs $1,110
Beginning Work-in-Process Inventory $150
Total Manufacturing Costs $1,260
Ending Work-in-Process Inventory $220
Cost of Goods Manufactured $1,040
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Norton Industries
Income Statement
For the Month Ended May 31
($000) omitted
Sales Revenue $1,488
Less: Sales Discounts $20
Net Sales $1,468
Cost of Goods Sold:
Beginning Finished Goods Inventory $247
Cost of Goods Manufactured $1,040
Cost of Goods Available for Sale $1,287
Ending Finished Goods Inventory $175
Cost of Goods Sold $1,112
Gross Margin $356
Selling, General & Administrative Expense:
Office Salaries $122
Sales Salaries $42
Insurance $8
Utilities $27
Rent $9
Depreciation $4
Office supplies expense $6
Total Selling, General, & Administrative Expense $218
Operating income $138
Other revenue _$2
Pre-tax Income $140
Solution: Problem. 1.26
a.
Direct material $2,100,000
Direct labor:
Wages $485,000
Fringe benefits $95,000
Total prime costs $2,680,000
b. Total manufacturing overhead:
Depreciation on factory building $115,000
Indirect labor: wages $140,000
Production supervisor's salary $45,000
Service department costs $100,000
Indirect labor: fringe benefits $30,000
Fringe benefits for production supervisor $9,000
Total overtime premiums paid $55,000
Cost of idle time: production employees $40,000
Total manufacturing overhead $534,000
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c. Total conversion costs:

d. Total product costs:

e. Total period costs:

Direct labor ($485,000 + $95,000) $580,000
Manufacturing overhead $534,000
Total conversion costs $1,114,000
Direct material $2,100,000
Direct labor $580,000
Manufacturing overhead $534,000
Total product costs $3,214,000
Advertising expense 99,000
Administrative costs 150,000
Rental of office space for sales personnel 15,000
Sales commissions 5,000
Product promotion costs 10,000
Total period costs 279,000

2. The $15,000 in rental cost for sales office space rental is an opportunity cost. It measures
the opportunity cost of using the former sales office space for raw-material storage.
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Solution: Problem. 1.27

1.
San Fernando Fashions Company
Schedule Of Cost Of Goods Manufactured
For The Year Ended December 31, 2022
Direct Materials:
Raw-material inventory, January 1 $40,000
Add: Purchases of raw material $180,000
Raw material available for use $220,000
Deduct: Raw-material inventory, December 31 $25,000
Raw material used $195,000
Direct labor $200,000
Manufacturing overhead:
Indirect material $10,000
Indirect labor $15,000
Utilities: plant $40,000
Depreciation: plant and equipment $60,000
Other $80,000
Total manufacturing overhead $205,000
Total manufacturing costs $600,000
Add: Work-in-process inventory, January 1 $40,000
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Subtotal $640,000

Deduct: Work-in-process inventory, December 31 $30,000

Cost of goods manufactured $610,000
2.

San Fernando Fashions Company
Schedule Of Cost Of Goods Sold
For The Year Ended December 31, 2022

Finished goods inventory, January 1 $20,000
Add: Cost of goods manufactured $610,000
Cost of goods available for sale $630,000
Deduct: Finished-goods inventory, December 31 $50,000
Cost of goods sold $580,000
3.
Sales revenue $950,000
Less: Cost of goods sold $580,000
Gross margin $370,000
Selling and administrative expenses $150,000
Income before taxes $220,000
Income tax expense $90,000
Net income $130,000

Solution: Problem. 1.28

1.
Regular hours: 40 x $12 $480
Overtime hours: 8 x $18 $128
Total cost of wages $608
2.
a. Direct labor: 38 x $12 $456
b. Manufacturing overhead (idle time): 1 x $12 $12
c. Manufacturing overhead (overtime premium): 8 x
($18 - $12) $32
d. Manufacturing overhead (indirect labor): 9 x $12 $108
Total cost of wages $608

116 daial NP PRI R SAL Y PR P



Il Jmsll J2lsag (syslasy dlial Ja — Jo¥l galall
lasanlszly dyslually ca Il dgulaa gqaliag sylalhma

Solution: Problem. 1.28

1. 3 hours x ($12 + $3) = $45
Notice that the overtime premium on the flight is not a direct cost of the flight.

Al 3yl 4805 ol Al e L) Jeall 300 o JaaY
2. 3 hours x ($12 x .5) = $18
This is the overtime premium, which is part of Gaines' overall compensation.
- Aal) Gaines (aigl (e e gag ¢ AlaY) Jaall Land g 13
3. The overtime premium should be included in overhead and allocated across all of the
company's flights.
A EDla gaen e daysis dalad) il 8 Sl Jeal) Lol Gpeci a3

4. The $82 is an opportunity cost of using Gaines on the flight departing from Topeka on
August 11. The cost should be assigned to the August 11 flight departing from Topeka.

Uanadt cay . danel 11 & Topeka (s 8yalaall syl 4 Gaines aladin da @ 4d<5 a V52 82 ) .4
.Topeka (e 3ol Gudasel 11 4lal dai))

Solution: Problem. 1.29
Schedule of cost of goods manufactured:

Direct materials:

Beginning raw materials inventory* $40,000

Add: Purchases of raw materials* $290,000

Total raw materials available $330,000

Deduct: Ending raw materials inventory* $10,000

Raw materials used in production $320,000

Direct labor $78,000

Manufacturing overhead applied to work in process* $285,000

Total manufacturing costs* $683,000

Add: Beginning work in process inventory $42,000

$725,000
Deduct: Ending work in process inventory* $35,000
Cost of goods manufactured $690,000
Schedule of cost of goods sold:

Beginning finished goods inventory* $50,000
Add: Cost of goods manufactured $690,000
Cost of goods available for sale* $740,000
Deduct: Ending finished goods inventory $80,000
Unadjusted cost of goods sold* $660,000
Deduct: Overapplied overhead ($270,000 — $285,000) $15,000
Adjusted cost of goods sold $645,000
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Income statement:

Sales $915,000
Cost of goods sold ($660,000 — $15,000) $645,000
Gross margin $270,000
Selling and administrative expenses:

Selling expenses™ $140,000
Administrative expense* $100,000 $240,000
Net operating income* $30,000

* Given in the problem

Solution: Problem. 1.30
1. The predetermined overhead rate is computed as follows:

Estimated total manufacturing overhead cost_

Predetermined overhead rate= — . =
Estimated total amount of the allocation base

_ $800,000
" $500,000 direct materials cost

2. Before the underapplied or overapplied overhead can be computed, we must determine the
amount of direct materials used in production for the year.

Beginning raw materials inventory $20,000
Add, Purchases of raw materials $510,000
Total raw materials available $530,000
Deduct: Ending raw materials inventory $80,000
Raw materials used in production $450,000

Actual manufacturing overhead costs:

Indirect labor $170,000
Property taxes $48,000
Depreciation of equipment $260,000
Maintenance $95,000
Insurance $7,000
Rent, building $180,000
Total actual costs $760,000
Manufacturing overhead applied to work in process

($450,000 x 160%) $720,000
Underapplied overhead $40,000
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Gitano Products

Schedule of Cost of Goods Manufactured

Direct materials:
Beginning raw materials inventory $20,000
Add purchases of raw materials $510,000
Total raw materials available $530,000
Deduct Ending raw materials inventory $80,000
Raw materials used in production $450,000
Direct labor $90,000
Manufacturing overhead applied to work in process $720,000
Total manufacturing costs $1,260,000
Add: Beginning work in process inventory $150,000
$1,410,000
Deduct: Ending work in process inventory $70,000
Cost of goods manufactured $1,340,000
4.Unadjusted cost of goods sold:
Beginning finished goods inventory $260,000
Add: Cost of goods manufactured $1,340,000
Cost of goods available for sale $1,600,000
Deduct: Ending finished goods inventory $400,000
Unadjusted cost of goods sold $1,200,000

The underapplied overhead can either be closed out to Cost of Goods Sold or allocated
between Work in Process, Finished Goods, and Cost of Goods Sold based on the overhead

applied during the year in the ending balance in each of these accounts.
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5. The amount of overhead cost in Work in Process was: “

$24,000 direct materials cost x 160% = $38,400

The amount of direct labor cost in Work in Process is:

119 isaall

Total ending work in process $70,000
Deduct: Direct materials $24,000
Manufacturing overhead $38,400 $62,400
Direct labor cost $7,600
The completed schedule of costs in Work in Process was:
Direct materials $24,000
Direct labor $7,600
Manufacturing overhead $38,400
Work in process inventory $70,000
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Solution: Problem. 1.31

1.
Journal Entries Debit Credit
a. | Raw Materials $275,000
Cash $275,000
b. | Work in Process $220,000
Manufacturing Overhead $60,000
Raw Materials $280,000
c. | Work in Process $180,000
Manufacturing Overhead $72,000
Sales Commissions Expense $63,000
Administrative Salaries Expense $90,000
Cash $405,000
d. | Manufacturing Overhead $13,000
Rent Expense $5,000
Cash $18,000
e. | Manufacturing Overhead $57,000
Cash $57,000
f. | Advertising Expense $140,000
Cash $140,000
g. | Manufacturing Overhead $88,000
Depreciation Expense $12,000
Accumulated Depreciation $100,000
h. | Work in Process $297,000
Manufacturing Overhead $297,000
. Estimated total manufacturing overhead cost
Predetermined overhead rate= — - =
Estimated total amount of the allocation base
= $3_30’000 = 165% of direct labor cost
$200,000 direct labor cost
$180,000 Actual Direct Labor Cost x 165% = $297.000
i. | Finished Goods $675,000
Work in Process $675,000
j. | Cash $1,250,000
Sales $1,250,000
Cost of Goods Sold $700,000
Finished Goods $700,000
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2.
Raw Materials Work in Process
Bal. 25,000 | (b) 280,000 Bal. 10,000 | (i) 675,000
@ 275,000 (b) 220,000
(© 180,000
Bal 20,000 (h) 297,000
Bal 32,000
Finished Goods Manufacturing Overhead
Bal. 40,000 | (j) 700,000 (b) 60,000 | (h) 297,000
Q) 675,000 (©) 72,000
(d) 13,000
Bal 15,000 (e 57,000
(9) 88,000
Bal. 7,000
Cost of Goods Sold
() 700,000

3. Manufacturing overhead is overapplied by $7,000 for the year. The entry to close this
balance to Cost of Goods Sold would be:

Manufacturing Overhead ............ccccovevvivieveenenne. 7,000
Cost of Goods Sold ........ccceeevvvveeeiiiiieeeeie, 7,000
4,
Gold Nest Company
Income Statement
Sales $1,250,000
Cost of goods sold ($700,000 - $7,000) $693,000
Gross margin $557,000
Selling and administrative expenses:
Sales commissions $63,000
Administrative salaries expense $90,000
Rent expense $5,000
Advertising expense $140,000
Depreciation expense $12,000 $310,000
Net operating income $247,000
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Solution Problem. 1.32

Schaeffer Corporation
Income Statement
for the Year Ended December 31, 2017

(in millions)

Revenues $359
Cost of goods sold

Beginning finished goods, Jan. 1, 2017 $46

Cost of goods manufactured (below) $224

Cost of goods available for sale $270

Ending finished goods, Dec. 31, 2014 $16 $254
Gross margin $105
Marketing, distribution, and customer-service costs $90
Operating income (loss) $15

Schaeffer Corporation
Schedule of Cost of Goods Manufactured
for the Year Ended December 31, 2017
(in millions)

Direct material costs

Beginning inventory, Jan. 1, 2017 $34

Direct materials purchased $88

Cost of direct materials available for use $122

Ending inventory, Dec. 31, 2017 _$4
Direct materials used $118
Direct manufacturing labor costs $40
Indirect manufacturing costs:

Plant supplies used $9

Property taxes on plant $2

Plant utilities $8

Indirect manufacturing labor costs $21

Depreciation—plant and equipment $6

Miscellaneous manufacturing overhead costs $15 $61
Manufacturing costs incurred during 2017 $219
Add beginning work-in-process inventory, Jan. 1, 2017 $10
Total manufacturing costs to account for $229
Deduct ending work-in-process inventory, Dec. 31, 2017 $5
Cost of goods manufactured (to income statement) $224
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Solution Problem. 1.33

1.
Direct materials used $118 million
Direct manufacturing labor costs $40 million
Prime costs $158 million
Direct manufacturing labor costs $40 million
Indirect manufacturing costs $61 million
Conversion costs $101 million

2. Inventoriable costs (in millions) for Year 2017:
Plant utilities $8
Indirect manufacturing labor $21
Depreciation—plant and equipment $6
Miscellaneous manufacturing overhead $15
Direct materials used $118
Direct manufacturing labor $40
Plant supplies used $9
Property taxes on plant $2
Total inventoriable costs $219
Period costs (in millions) for Year 2017 Marketing,
distribution, and customer-service costs $90

3. Design costs and R&D costs may be regarded as product costs in case of contracting with a
governmental agency. For example, if the Air Force negotiated to contract with Lockheed to
build a new type of supersonic fighter plane, design costs and R&D costs may be included in
the contract as product costs.

AgasSa UKy ae dlaill Ala 3 il @IS Ll e jskally Gl allSy apanaill G\ e ) Sy 13

gom¥) A il e waa g5 ol Lockheed 4858 ae 2laill dysall <l cucaglis 13 ¢ JUall daas e
el (RIS gall 8y slailly Canl) (oS apanalll (oIS panal by 28 ¢ Cigaal) (e

4. Direct materials used = $118,000,000 + 2,000,000 units = $59 per unit

Depreciation on plant and equipment = $6,000,000 + 2,000,000 units = $3 per unit.

5. Direct materials unit cost would be unchanged at $59. Depreciation unit cost would be
$6,000,000 + 3,000,000 = $2 per unit. Total direct materials costs would increase by 50% to
$177,000,000 ($59 per unit x 3,000,000 units). Total depreciation cost of $6,000,000 would
remain unchanged.

6. In this case, equipment depreciation is a variable cost in relation to the unit output. The
amount of equipment depreciation will change in direct proportion to the number of units
produced.

il Slamall B3 jlade puatae sl Z Uk Glaty Lad 5yaie S Glaaall B Hiiey ¢ Al oda 4.6
Asdiall Glaaglh ae ae bl

(a) Depreciation will be $3 million ($1.50 x 2 million) when 2 million units are produced.
(b) Depreciation will be $4.5 million ($1.50 x 3 million) when 3 million units are produced.
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Solution Problem. 1.34

1. If 2 pounds of direct materials are used to make each unit of finished product, 100,000 units
x 2 Ibs., or 200,000 Ibs. were used at $0.70 per pound of direct materials ($140,000 + 200,000
Ibs.). (The direct material costs of $140,000 are direct materials used, not purchased.)
Therefore, the ending inventory of direct materials is 2,300 Ibs. x $0.70 = $1,610.

Se dhy 2 % 555 100,000 ¢ Sledl) giial (e sang IS pdeal 8ydlall dgal) o dhay 2 Hlasiad 513 L1
.(dBy 200,000 + Y52 140,000) 88l sl (1o Jhay JSI 153 0.70 mass Lewhaiind & . Jay 200,000
Onyaall Gl ¢ AL (like Gy ¢ Byilie Aadiiie se & V5o 140,000 Al 5palad) dplall Caglsall)

+ Y53 1,610 = ¥50 0.70 xdh) 2,300 s 3palall dlsall (3200 al) Al

2.

Manufacturing Costs For 100,000 Units

Variable Fixed Total
Direct materials costs $140,000 - $140,000
Direct manufacturing labor costs $22,000 - $22,000
Plant energy costs $5,000 - $5,000
Indirect manufacturing labor costs $18,000 $14,000 $32,000
Other indirect manufacturing costs $8,000 $26,000 $34,000
Cost of goods manufactured $193,000 $40,000 $233,000

Average unit manufacturing cost: $233,000 + 100,000 units = $2.33 per unit

Finished goods inventory in units: =$20,970 (given) +~ $2.33 per unit= 9,000 units

3

Units sold in 2017 = Beginning inventory + Production — Ending inventory

=0 + 100,000 —9,000 = 91,000 units
Selling price in 2017 = $473,200 + 91,000 = $5.20 per unit

4,
Atlanta Office Equipment
Income Statement
Year Ended December 31, 2017
(in thousands)
Revenues (91,000 units sold x $5.20) $473,200
Cost of units sold:
Beginning finished goods, Jan. 1, 2017 $0
Cost of goods manufactured $233,000
Cost of goods available for sale $233,000
Ending finished goods, Dec. 31, 2017 $20,970 | $212,030
Gross margin $261,170
Operating costs:
Marketing, distribution, and customer-service costs
($120,000 + $43,000) $163,000
Administrative costs $54,000 | $217,000
Operating income $44,170
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Note: Although not required, the full set of unit variable costs is:

Direct materials cost ($0.70 x 2 Ibs.) $1.400

Direct manufacturing labor cost ($22,000 + 100,000) 0.22 i
Plant energy cost ($5,000 + 100,000) 0.05 = $1.93 per unit
Indirect manufacturing labor cost ($18,000 + 100,000) 0.18 manufactured
Other indirect manufacturing cost ($8,000 + 100,000) 0.08

Marketing, distribution, and customer-service costs ($120,000 =+ 91,000) = $1.329 per unit
sold.
Al sang JS 15 1.329 = (91,000 + $120000) 5Ll darsy apysilly (Gamiil) Call<s
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